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The following table shows the percentage (%) distribution of total number of employees, males and graduates

of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table,
answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%

FafeRaa aifereT 1 fodl Sl & ©: [AUFT A - F 8 SHaIRl, 5oV iR \ae] 1 $d a1 o Uiawd
TR S=ITAT 71 § | 39 @70l | SHaTRAl &1 G T 8,000 § Iorad JoN 3R A &1 S uId3:5 3
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FHARTT, g3 SR FaP! & [AUTTER fdaRo
o TR (%)

HHARI Y EEIGE
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 249%

What is the number of employees working in department F who are Post-Graduate ?

524
526
528
530
1) 1
) 2
3) 3
(@) a

faumT F & SRR Weade GHAg! &1 9 et g2

. 524
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1[Option ID=30701] Question Description : general_paper_genarel paper_set 11_english_q1
2[Option ID=30702]
3[Option ID=30703]
4[Option ID=30704]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table.

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%0)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 13% 10% 20%
E 21% 12% 24%
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FHAIA!, g2 SR W] &1 [GHTTaR faaro
o TATRTT (%)

HHAR Y Hadh
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 109
E 153% 10% 20%
F 21% 12% 24%

What is the total number of male graduate employees working in department D ?

I.

2,
3.1280
4. Cannot be computed
1)1

2) 2

(3) 3

(4) 4

faUTT D & PR I59 WP SHARG! 1 Fa I b 82

1. 600

2. 480

3. 1280

4. T DT 31T ! fbaT S Yepall §

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30705] Question Description : general_paper_genarel paper_set 11_english_q2
2[Option ID=30706]

3[Option ID=30707]
4[Option ID=30708]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table.

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%0)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 13% 10% 20%
E 21% 12% 24%
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TR RITAT 71 § | 39 Ul § SH=1RAl 1 5 11 8,000 § fored JoN 3R A &1 S uId 3:5 3
R AA@ SR RIATAD BI 3UTd 3 : 2 5| Al § [EU T Sidhs] & MR IR U B IR aliot|

FHAIA!, g2 SR W] &1 [GHTTaR faaro
o TATRTT (%)

HHAR Y Hadh
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 109
E 153% 10% 20%
F 21% 12% 24%

What is the difference between the total number of female emplovees and the total number of male employees
working in the company ?

1000
. 2000
. 3000
. 4000
1)1
(2) 2
3) 3
4) 4

S H BRI Afed SHANG 31 P ST R TN HHANRE! &1 Ha =1 & a9 SR fheT 82
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1.1,000
2.2.000

3. 3.000

4. 4,000

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30709] Question Description : general_paper_genarel paper_set 11_english_q3
2[Option ID=30710]

3[Option ID=30711]
4[Option ID=30712]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table.

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%0)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 13% 10% 20%
E 21% 12% 24%

e drfcreT H el Sul & @: [aurl A - F & SH=iidl, goy SR |ide! @i ga Sl ol 9la=id
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FHAIA!, g2 SR W] &1 [GHTTaR faaro
o TATRTT (%)
HHAR Y Hadh

A 20% 23% 16%

B 12% 18% 17%

C 10% 15% 13%

D 22% 20% 10%

E 15% 10% 20%

F 21% 12% 248,
The number of graduate employees working in department C is % of the number of Post-Graduate

employees working in department E.

1. 260
2.180
3. 160
4,120

1) 1

2) 2

(3) 3

4) 4

faunT ¢ & orikd I HHaial & 9 faurT & § erlkd wrEds sHaial of 9 o
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30713] Question Description : general_paper_genarel paper_set 11_english_q4
2[Option ID=30714]

3[Option ID=30715]
4[Option ID=30716]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table.

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%0)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 13% 10% 20%
E 21% 12% 24%

e drfcreT H el Sul & @: [aurl A - F & SH=iidl, goy SR |ide! @i ga Sl ol 9la=id
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FHAIA!, g2 SR W] &1 [GHTTaR faaro
o TATRTT (%)

HHAR Y Hadh

A 20% 23% 16%

B 12% 18% 17%

C 10% 15% 13%

D 22% 20% 10%

E 15% 10% 20%

F 21% 12% 248,

Total number of female employees in department F is % more than the total number of male employees

working in department A.

1.72
2.74
3.76
4. 80
1)1
(2) 2
(3) 3
(4) 4

mFﬁmWyﬁwmmﬁmAﬁmeﬁﬁﬁwm%
% HIUP B

.72
74
.76
.80

11
(2) 2
(3) 3
(4) 4
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1[Option ID=30717] Question Description : general_paper_genarel paper_set 11_english_q5
2[Option ID=30718]
3[Option ID=30719]
4[Option ID=30720]
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Arrange the five steps of understanding level of teaching (according to Morrison) in the ascending sequence :

A. Organisation
B. Assimilation
C. Presentation
D. Recitation
E. Exploration

Choose the correct answer from the options given below :
1.E.C,B.A&D
2.C,B,A,E&D
A CCD.B&E
D,E.C,CB&A

(4) 4

1 feu e fasedl o 9 9el STR &1 98- Sl

E.C.B.A3RD
.C,B,AE3RD
.A.C,D,B3RE
.D.E.C.,B3RA
) 1
(2) 2
(3) 3
(4) 4

B

1[Option ID=30721] Question Description : general_paper_genarel paper_set 11_english_q6
2[Option ID=30722]
3[Option ID=30723]
4[Option ID=30724]
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In model of teaching 'ADDIE!, the letters 'D', D' stand for :

1. Design and Development
2. Development and Deployment
3. Design and Deployment
4. Dedication and Development
(1) 1
(2) 2
3) 3
4) 4

fRreur & wSiSiangs (ADDIE) Alsa # D, D &1 3¢ §:

. HftareT 3R fgorg
faorg 3R aRfAgier
ST 3R aRfareE
1

() 2

(3) 3

(@) 4
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1[Option ID=30725] Question Description : general_paper_genarel paper_set 11_english_q7
2[Option ID=30726]
3[Option ID=30727]
4[Option ID=30728]




Sl. No.8
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In learning, classical conditioning effects are an example of :

1. Implicit Memory
2. Eidetic Memory
3. Retroactive Memory
4. Explicit Memory
1 1
) 2
3) 3
(4) 4

SHERTH H WREY S UHIE D1 U 36 o

1. P wR
2. TRITGTe Hfd
3. gdael wa
4. FEIE T
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30729] Question Description : general_paper_genarel paper_set 11_english_q8
2[Option ID=30730]

3[Option ID=30731]
4[Option ID=30732]

Sl. No.9
QBID:11201009

Which of the following are the vital elements of Pedagogical skills ?

A. Content knowledge

B. Personality of the learners

C. Students understanding of conceptions of the subject matter and learning
D. Intelligence of the learners

E. Teaching strategies

Choose the correct answer from the options given below :

1. Aand E Only
2.C.,Dand E Only
3.A.Band D Only
4. A, Cand E Only

(1) 1

) 2

(3) 3

(4) 4

Fafiaa d $19 e e SRl & 93 $@9a o
A. [qugasg &1 31

B. HftrH®dl &1 Afada

c. favgasg AR sifeH ST Soeasi o1 faendl & 993
D. &l @ gigare

E. TR1gfor urifa

=1 feu e faedl o 9 9gl 3Tk &1 98- ol

1. Had A IRE

2. HaAC, D IIRE
3.Pdd A, B ARD
4.PqAA, CARE

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=30733] Question Description : general_paper_genarel paper_set 11_english_q9
2[Option ID=30734]




3[Option ID=30735]
4[Option ID=30736]
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QBID:11201010

SWAYAM Platform facilitates hosting of all courses taught in classrooms :

1. From 5th to Postgraduate
2. From Class 11th to Undergraduate level only
3. For Postgraduate only

4, From class 9th to Postgraduate

1 1

(2) 2

3) 3

(4) 4

WY (SWAYAM) WiewT d&msl & 9Ty U G2 ureassdl & dare- &l gare a4l |

. BET 581 Y RA® d&
. ad Bl 1] T WD Jd &R a5
. Had WD B
4. F& odl Y WHETD TP
1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=30737] Question Description : general_paper_genarel paper_set 11_english_q10
2[Option ID=30738]
3[Option ID=30739]
4[Option ID=30740]
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The appropriateness, meaningfulness and usefulness of the specific inferences made from the measures, is

called

1. Parallel Test Reliability
=

P
. Interrater Reliability
3. Test-Retest Reliability
4. Validity

1) 1

(2) 2

(3) 3

4) 4
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30741] Question Description : general_paper_genarel paper_set 11_english_q11
2[Option ID=30742]

3[Option ID=30743]
4[Option ID=30744]
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In survey based research in Social Sciences, when you decide to tell participants something false about the
purpose of the research, you are using

1. Active deception
2. Dehoaxing
3. Naturalistic observation
4. Sensitization
(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3

4) 4

1[Option ID=30745] Question Description : general_paper_genarel paper_set 11_english_q12
2[Option ID=30746]

3[Option ID=30747]
4[Option ID=30748]

Sl. No.13
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For testing difference in means of two independent samples with n; and n, , the number of items in the two

samples, respectively, the t-statistic is computed with the following degree of freedom.

l.ny+ny,—1
2.ny+ny -2
3n+tmn
4.ny+ny+1

) 1

(2) 2

(3) 3

4) 4

n; 3R n, G (& & Wi Uie=il & Al & 3R & uLieiur & Ty «-iRkegepig 7o Fafafad wdad
F BIfe YD AR B

l.ng+ny—1
2.np+ny -2
Jn;+n,
4.ny+tnp+1

) 1

(2) 2

(3) 3

4) 4

1[Option ID=30749] Question Description : general_paper_genarel paper_set 11_english_q13
2[Option ID=30750]
3[Option ID=30751]
4[Option ID=30752]

Sl. No.14
QBID:11201014

In bibliographies and footnotes, researchers often use the abbreviation 'ibid'., which means

1. in the same place
2. introduction
3. and the following
4. here and there
1) 1
(2) 2
(3) 3
(4) 4

T Ty gt oiR uTg fewoft & wiedal ura: HerdieR tibid' &1 TN &R 8, forget sl g:

. T = B ae!
TR

. IR Fafarad
. Tel 3R g8
1) 1

) 2

3) 3

(4) 4

S O




1[Option ID=30753] Question Description : general_paper_genarel paper_set 11_english_q14
2[Option ID=30754]
3[Option ID=30755]
4[Option ID=30756]

Sl. No.15
QBID:11201015
9

Answers to which among the following questions can be found in the 'Discussion’ section of a research paper 7

A. What kind of instrumentation was used in the study ?

B. How do your results relate to existing studies on the topic ?

C. What do the results mean ?

D. What were the results of any statistical tests ?

E. What new ideas emerge that you could evaluate in a subsequent experiment ?

Choose the correct answer from the options given below ;

A, B and C Only
.B. Cand D Only
.B.CandE Only
.C. D and E Only
1) 1
2) 2
(3) 3
(4) 4

oy g7 & it yr  fRefeiad § 9 T udi & 3R urd iy o 9o 82

A. HHg9 | [ YPR & IUBIU T W {641 1P

B. fawg W adam srag=i § amues et o1 $3 i fosgr o gedr &2

c. frwsf ot ardsar F g

D. Uifeas! usteur & Fremd @ 22

E. ¥4 & U IR [qaR a1 8, [oFahT 1m0 wRiad van & Hetid &R 9ahd o7

i fGU T fa el © 9 Hel STR 31 90 I

1. HaA A, B3R C
2. %EAB, C ARD
3.%ddB, C 3IRE
4. HAAC, D IRE

@ 1

() 2

3) 3

(4) 4

e

1[Option ID=30757] Question Description : general_paper_genarel paper_set 11_english_q15
2[Option ID=30758]
3[Option ID=30759]
4[Option ID=30760]
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From the communication viewpoint which one of the following is a cultural institution ?

1. Trade organizations
2. Political parties
3. Military alliances
4. Family

1)1

2) 2

3) 3

(4) 4

ol & 2 9, ek d oF 1P IReide dRHE g7

. IR 7134
TSP gd
g TEERA
ORaR

O

@ 1
) 2
3) 3




(4) 4

1[Option ID=30761] Question Description : general_paper_genarel paper_set 11_english_q16
2[Option ID=30762]
3[Option ID=30763]
4[Option ID=30764]

Sl. No.17
QBID:11201017

Which one of the following is excluded from the list of communication barriers ?

1. Physical
2. Semantic
3. Philosophical
4. Peychological
(1) 1
) 2
3) 3
(4) 4

oo arene ot g | Fafiiga @ it T8 5

 YRINE
3T
ARIEED
ECIGRIIEE

B O I

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30765] Question Description : general_paper_genarel paper_set 11_english_q17
2[Option ID=30766]

3[Option ID=30767]
4[Option ID=30768]

Sl. No.18
QBID:11201018

Which of the following are forms of traditional media of communication ?

A Street demonstrations
B. Yakshagana

C. Puppetry

D. Hari Katha

E. Filmy dances

Choose the correct answer from the options given below :

1. A, B, C Only
2.B.C.D Only
3.C. D, E Only
4.A. D, E Only

1) 1

(2) 2

(3) 3

(4) 4

fafafEa § ®19-8 =9 9uwo & YRuiYes 719 82

A. F5% U

B. T&ATH

C. PaYddll 1A
D. gRaur

E. fperdt 9

4 fqu e fosetl § O 9a Sugad SR &1 997 SIfE:

1.$ad A, B, C
2.$ddB,C, D
3. %90 C,D,E
4. PAdA, D, E
@) 1
() 2




3) 3
4) 4

1[Option ID=30769] Question Description : general_paper_genarel paper_set 11_english_q18
2[Option ID=30770]
3[Option ID=30771]
4[Option ID=30772]

Sl. No.19
QBID:11201019

Effective classroom communication is intended to make learners acquire new

A. Knowledge

B. Behaviours

C. Soft skills

D. Ways of aggressive attitude
E. Hyper-reaction

Choose the correct answer from the options given below :

A, B, C Only
.B. C and D Only
.C. D, E Only
A.D.E Only

b =

S Y

1)1
(2) 2
3) 3
(4) 4

YA &7 TUN0 T I534 HET 31 &1 91 UeH FA1 82

A FAAIH

B. 04 &deR

C. A 919 SIed

D. 3TShTHD TG & 1 &I

E. 3=y srfshar
e fau e fodedl § 9 9ad Sugad SR &1 997 SIS

1[Option ID=30773] Question Description : general_paper_genarel paper_set 11_english_q19
2[Option ID=30774]
3[Option ID=30775]
4[Option ID=30776]

Sl. No.20
QBID:11201020

Given below are two statements:

Statement I : Inter-personal communication can be mediated or aumediated.

Statement II : On its part mostly, mass communication need not be mediated.

In the light of the above statements, choose the correct answer from the options give below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4. Statement I 1s false but Statement IT 1s true.

(1) 1
(2) 2
3) 3
(4) 4




RIECCAIC AR

HYA 1 : siqdaidds JUNUl aied I1 Sfddied &l 9adl g |

U 11 : VT S0P YT IR 5 SN0 &1 oafed 61 Sa<ad Tel g g |
SIRIT T2l & S1aie T =4 30 1 faeed 1 3 el SI &1 997 Sifed :

1L FEIARBFYTN A T E |
2. B AR BYF I AT ST E |
3. PYTIIIE IR BYTII 3T |
4. P A G IR BYT I TA© |
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=30777] Question Description : general_paper_genarel paper_set 11_english_q20
2[Option ID=30778]
3[Option ID=30779]
4[Option ID=30780]

Sl. No.21
QBID:11201021

A Picce of work can be done by 3 boys and 2 men jointly in 10 days. The same work can be done jointly by 2
boys and 3 men in 8 days. In how many days the same work can be done by 1 boy and 2 men jointly ?

115
T L]
.13.5
=145
1) 1
(2) 2
(3) 3
(4) 4

U G I 3 TSo 3R 2 3MeH! fiad 10 G H S 96d €1 30 & &1 2 T& 3R 3 e faad s
feT oY god g1 S TH &f 1 TS&T 3R 2 AEH! Hae a1 & s ane

o
oA 2:5
1358
.14.5
1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=30781] Question Description : general_paper_genarel paper_set 11_english_q21
2[Option ID=30782]
3[Option ID=30783]
4[Option ID=30784]

Sl. No.22
QBID:11201022

After increasing the selling price of an article by 25%, the new price of the article becomes Rs. 250. Now a
discount of 25% is offered on the new price. What would be the profit or loss in percentage on the original

price.

1. Profit of 6.25%
2. Loss 0f 6.25%
3. Loss of 12.5%
4. Profit of 12.5%

(1) 1

(2) 2

3) 3

(4) 4




& H 25% 31 gf& T & ULId a%g T 7417 JeF 250 941 61 o1 81 39 T¢ eI R
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30785] Question Description : general_paper_genarel paper_set 11_english_q22
2[Option ID=30786]

3[Option ID=30787]
4[Option ID=30788]

Sl. No.23
QBID:11201023

If S is an even integer, then which of the following are true ?

A S+ 1 will be odd
25 - 1 will be odd

B.
C. 8%+ 1 will be odd
D. 82 -1 will be odd

E. 8%+ 2 will be odd

Choose the correct answer from the options given below :

1. Aand B Only
2.A,Band C Only
3.A.B, Cand D Only
4.C.D and E Only

1)1

2) 2

(3) 3

(4) 4

o s Ueh gHYUl ¥ g, a9 Hafiied 4 3§ -9 9d 82

A s+ 1 faygaErm
B.2S -1 fawH B
C.s?+ 1 fawm g
D.s2-1fasmgrm
E.s?+2 favm s
1 feu Tt fasedl o ¥ 9gl 3T &1 98- i

1. $ad A IRB

2. BAAA, B3R C
3. $dd A, B, C 3IRD
4.%ad ¢, D IARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30789] Question Description : general_paper_genarel paper_set 11_english_q23
2[Option ID=30790]

3[Option ID=30791]
4[Option ID=30792]

Sl. No.24
QBID:11201024

IfA=2,Z =52 and CAT = 48 and BAT = 46. Then what will be the value of RAT + MAT ?

1. 78
2.146
3.68
4.148
1) 1
(2) 2




3) 3
4) 4

A =27 =52 3R CAT = 48 GUT BAT = 46 81 dl RAT + MAT & HH 54T 312

78
146
68
148

[

JUCS S}

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=30793] Question Description : general_paper_genarel paper_set 11_english_q24
2[Option ID=30794]

3[Option ID=30795]
4[Option ID=30796]
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A takes twice as much time as B takes and thrice as much as C to complete a job. By working together A, B
and C can complete the job in 4 hours. Find the time taken by each of them separately to complete the job. i.c.
the time taken by A, B, and C respectively to complete the job.

1.(24,12,8)
2.(12,8,24)
3.(8,12,24)
4.(8, 16, 24)
(1) 1
(2) 2
3) 3
(4) 4
forelt ST ol THTG 3 H A S GRI TN 1 aTell 90 B & §RI T S arel 999 &1 SR SR ¢ &
GRT T W1 alel 999 BTAF-T 61 A, B, C U W1y (@R 39 S &1 4 B¢ T 90T B 9Pd 6 | 89
Y% GRI BTH & AT B H AT 7T S(eT-3e 9T &1 71d Siforg 3dfd A, B, ¢ Sl oM & &
o 31-3ET HH: fora-1 T9g aema

1.(24,12.8)
2.(12. 8, 24)
(8, 12,24)
(8. 16, 24)
1) 1
) 2
3) 3
(4) 4

S S}

1[Option ID=30797] Question Description : general_paper_genarel paper_set 11_english_q25
2[Option ID=30798]
3[Option ID=30799]
4[Option ID=30800]
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"The death penalty in certain western countries has led to increase in erime rate leading to greater number of
inmates in their prisons. Therefore, death penalty is not justifiable”. Which fallacy is committed in the above

argument 7

1. False Cause
2. Slippery Slope
3. Red Herring
4. Straw Man
(1) 1
(2) 2
(3) 3
(4) 4




"% GIEH! SR H HgaUs I SRIY X H gi& g3 © i SRUIasl &1 oidil # Biadl 1 6l H gfa g
G181 SN JGaUs Siud T8l o 1" SWRIad gfck & $14-91 debaly o7

1. TR
2. TP aegad ear (RTol @)
3. 38 BT

o
4. 919-gqa db-ay (L1H)
) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30801] Question Description : general_paper_genarel paper_set 11_english_q26
2[Option ID=30802]
3[Option ID=30803]
4[Option ID=30804]
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If the statement - "All plants are green organisms" is given as false, then which of the following statements
could be immediately inferred to be true ?

A. No plants are green organisms

B. Some green organisms are plants

C. Some plants are green organisms

D. Some plants are not green organisms.

Choose the correct answer from the options given below :

A Only
.Band C
3. Aand D Only
4, D Only
1) 1
) 2
3) 3
(@) 4
afe HyF - it eRA o & & s & = u o R 8, a9 Fafafed P s s gas= &
U ¥ @Rd &4 U ATd @1 o 9l g2

A PIg 21t diey gikd Siia Tt g1
B. PO SRASa T &l
c.pUIYERa Al

D. O 1% gRd wild el o |

i feu T fawedl § O 95! 3R &1 904 $Iod:

b2 =

1[Option ID=30805] Question Description : general_paper_genarel paper_set 11_english_q27
2[Option ID=30806]
3[Option ID=30807]
4[Option ID=30808]
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Which of the following statements are so related that they cannot both be true, although both may be false ?

A, All fungi are living beings

B. No fungi are living beings

C. Some fungi are living beings

D. Some fungi are not living beings

Choose the correct answer from the options given below :

1. Aand C Only
2. Cand D Only
3. Aand B Only
4. Aand D Only

(1) 1

2) 2

3) 3

(4) 4

ﬁaﬁ%@aﬁﬁﬁ:{-@aﬁuﬁwwﬁ%%%%ﬁwm&wﬁfﬁw,wﬁaﬁﬁ I Bl
Jad el

A T Baw golla sId B

B. ®ig 1l Ho® Toitg 78l 8id &1

C. TO HIP Jola gid ¢

D. $® $dd uild Tol gld g |

4 fag U famedl & 9 99 Sugdd ST &1 99 DIt

1. FIAA MR C
2.%ad C 3R D
3.%ad A IR B
4. HAA A AR D

1

() 2

(3) 3

@) 4

1[Option ID=30809] Question Description : general_paper_genarel paper_set 11_english_q28
2[Option ID=30810]
3[Option ID=30811]
4[Option ID=30812]
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Which of the following statements are logically equivalent ?

A. No amphibians are mammals.

B. All non-mammals are non-amphibians.
C. All amphibians are non-mammals,

D. No mammals are amphibians.

Choose the correct answer from the options given below :

1. A, B and C Only
2. A, Cand D Only
3. A, B and D Only
4. Aand D Only

(1) 1

(2) 2

(3) 3

(4) 4




T BH-4 BuF alflds & 9 gage 6

A BT W IYTIR, TR el g
B. il TR, TRGUT=R B
. gt SUTR, IR-TURT B

D. B8 1 TR, SHT=R T8l 21

4 fau e fadedl & O 9ad Sugad SR &1 997 SIS

1. Had A, B3R C
. HAd A, C AR D
. HAdA. B AR D
4.%dd A AR D
1

2 2

3) 3

(4) 4

[V )

1[Option ID=30813] Question Description : general_paper_genarel paper_set 11_english_q29
2[Option ID=30814]
3[Option ID=30815]
4[Option ID=30816]
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According to the classical Indian School of logic (Nyaya) in the process of inference (anumana), the reasoning

proceeds from ;

1. Univerzal to particular only
2. Particular to universal only
3. Universals to Universals through particulars
4. Particulars to particulars through the universal
11
@) 2
3) 3
4) 4

< F YR YR Td & 3FaR A S Hichd1 I, THun 69 ¥ 59 IR Jedl o

1. Fad 9aE® I e & aRe
2. Had e ¥ HAEE B B
3. zeTdl & AT T grdHe 9 9dibe B e
4. TaE® AIH Y Seerd! ¥ e # v
11
(2) 2
(3) 3
(4) 4

1[Option ID=30817] Question Description : general_paper_genarel paper_set 11_english_q30
2[Option ID=30818]
3[Option ID=30819]
4[Option ID=30820]
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A digital camera contains a microprocessor . The camera's specification includes :

- 20 megapixel resolution

- 32 gigabyte memory card

- autofocus facility

If a compressed image file requires an average of 1 byte per pixel, then what is the maximum number of

photos that can be stored on the memory card ? ( 1 Kilo = 1024)

1. 1638
2.819
3.409
4. 732

1)1

(2) 2

3) 3

4) 4




% (e H0 U A iUEm 21 59 o & Ay (faftseser) § afffed

« 20 HeHIUaH ol
. 327fmeEEe gA ore
« 311 BIHY Biyfee!

Ife U SHIRS SHY BIgd & fog Wi e Siid | a15e 1A= © i S Bieid () 3t e
e a1 &, o IaR 1e IR HsTRa farar o waar 22 (1 fadl = 1024)

1. 1638
2.819
3. 409
4,732
)1
(2) 2
3) 3
4) 4

1[Option ID=30821] Question Description : general_paper_genarel paper_set 11_english_q31
2[Option ID=30822]
3[Option ID=30823]
4[Option ID=30824]
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Which of the following statements about Bluetooth connectively are TRUE ?

A. Bluetooth will only work over long distances.

B. No wires are needed when exchanging files via Bluetooth.

C. Bluetooth allows you to speak hands-free on a Mobile phone.

D. Music can be played wirelessly from your Mobile phone to a speaker using Bluetooth.
E. Transfer speeds when sending files are faster than using Wi-Fi.

Choose the correct answer from the options given below :

1. Aand E Only
2. A.Band C Only
3.C.D. E Only
4. B, C and D Only
(1) 1
(2) 2
(3) 3
(4) 4

T & 9 -8 $y sgy FAfdead S aR H I g |

A. SCY Had ddl gRAI IR T ST

B. &g & HeOH Y BIgal &1 HGH-USH Bd GHY fbdl 1l IR St srazgesd] el gidl|

C. SCY US| a1 814 @Y U Hialsd BiH TR die adl 6|

D. 39 AiaTed B ¥ 61 aRR & &gy PT STAR R [P WIHR IR HTd qorrd] o goal § |
E. BTl Uold 919 dls-%ls & SUIN Pl ga-l & SfaRU1 &1 71fd digaR gidl o

=1 feu e faedl o 9 9gl 3Tk &1 98- ol

1. Had A IRE

2. BAAA, B3R C
3.%dd C,D ARE
4. P$TAB, C ARD

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=30825] Question Description : general_paper_genarel paper_set 11_english_q32
2[Option ID=30826]
3[Option ID=30827]
4[Option ID=30828]
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Given below are two statements based on generic file type that can be opened in an appropriate software on
most platforms :

Statement I : A file saved in portable document format (.pdf) is a generic text file.
Statement IT : Moving Pictures experts group layer 4 (.mp4) is an example of generic image file format.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement II is true.

1)1
(2) 2
(3) 3
4) 4

B RICAC1R) e
SR BIEd eBY & YR TR (o TS WehIR R TP 3ugdad JtedaR § @ial o Jadl 6

DU : Ulcad SIFGHE BIHE (.pdf) T YRIET BT TS TP BIgd U SRS coRe PIed 6
FYA 11 : G fUa= UaUCH 90 TaR-4 (mpd) SHIRS SHS Blgd DU & [P Jaevl gl
JRIF FUF o ATAH 1, Aid [4U T fadedl H U Yol IR &1 98- B IToTt:

HYTI AR NS A E |

CPYT IR IS AT |

YT I IO, AT YT I TS |
PY AHTA S, AfPT U IR |
(1) 1

(2) 2

(3) 3

(4) 4

B

1[Option ID=30829] Question Description : general_paper_genarel paper_set 11_english_q33
2[Option ID=30830]
3[Option ID=30831]
4[Option ID=30832]
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Which one of the following acronyms matches incorrectly with its full form ?

1. USB - Universal Serial Bus

2. RFID - Radio Frequency Infrared Device
3. CRT - Cathode Ray Tube

4. JPEG - Joint Photographic Expert Group

(1) 1

(2) 2

3) 3

@) 4

e o 8 o =-a1 uRaull 2ea 39 R =4 3 7Tod &7 4 gufad g
1.gugal. - Tiga a9

2. ARUP. 3115 3l - STl wiedl 3RS [Sagy
3. LR - PUS I A
4, S1HZ 5N, - Siec BIEmh® Taqqe 99

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30833] Question Description : general_paper_genarel paper_set 11_english_q34
2[Option ID=30834]

3[Option ID=30835]
4[Option ID=30836]
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Identify the correct ascending order of the following list of stages A-E when text, written in magnetisable ink,
is passed over a Magnetic Ink Character Reader (MICR).

A. Ag each character passes over the head. it produces a unique waveform.
B. Characters are then passed over the MICR read head.

C. Ink on the paper is first magnetised.

D. MICR text is passed over an MICR reader.

E. The waveform is recognised by the computer system.

Choose the correct answer from the options given below :

JEDYB ALE

-I—UJIJI—I
el
QUO

.B, 4
L
+B,

rﬂ.,t-»"'

vE
s B
b,

(4) 4
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(TR SR,) TR ORI 911 § o FEfifad A-E & 901 &1 991 & o] RG] 5 31 Ted Siog|

A O TP 31&R XY & HUR ¥ TERA1 § ol 98 D ARy o1 0 e Al 6|
B. a{fﬁfﬁ@ &néﬁfsm’ Wﬁﬂﬁwwma

C. BT IR FaTYT M5! B JEH G (a1 1l 3

D. TH.3MT3. 1. 3R, 913 1 UH. 313, 41 3R, U6d R [6RI Al ¢ |

E. HIeR %ed a1 U &1 UgdH Rl g

=i fGU T fa el O 9 9g1 STR 31 98- SIieig:
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1[Option ID=30837] Question Description : general_paper_genarel paper_set 11_english_q35
2[Option ID=30838]
3[Option ID=30839]
4[Option ID=30840]
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Which of the following decades is known as United Nations Decade of Biodiversity ?

. 1991-2000

.2001-2010
3.2011-2020
4.2021-2030

1) 1

() 2

(3) 3

(4) 4

e & & oy axe &1 9gad Y & 9id ffaud] ax” & &9 § o1 9 82

b2 =

. 1991-2000
.2001-2010
2011-2020
2021-2030

[

da

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30841] Question Description : general_paper_genarel paper_set 11_english_q36
2[Option ID=30842]

3[Option ID=30843]
4[Option ID=30844]
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Given below are two statements :

Statement I : Negative feedback effects tend to increase the magnitude of climate change.

Statement IT : Positive feedback effects tend to reduce the magnitude of climate change.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
(1) 1
@) 2
3) 3
(4) 4

- 3l Py U Mg &

FYA I : FPRIAS WGP YU STearg 9ikacdd &1 =1 Pl §gH B SR Ugd i 6|
FYF 11 : THRIAD WYY WHIG STaar] uRkad 1 HH1 &1 ge 3T 3R 999 e o
SR DY & 3feliep 1, =i 4T 7Y faspeui & U a8 Iugad IR &1 90 Bifoig:

1. BYTI ARSI Tl § |
2. FYF IR IS Tad g |
3. PYFITel e, AT pUF n Tad g |
4. FUFITEd 6, APT HUT N Tl & |

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30845] Question Description : general_paper_genarel paper_set 11_english_q37
2[Option ID=30846]

3[Option ID=30847]
4[Option ID=30848]
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Adding organic materials, such as sewage or paper pulp. to water stimulates consumption of which chemical
by decomposers.

. Carbon dioxide
. Oxygen
3. Salts
4. Minerals
(1) 1
(2) 2
(3) 3
(4) 4

O H TS AT BITS B1 QTal ol Plal-d gari & s 9 sqgesd! gRI -5 1 § 69 388 &1 @ud
SEI Bl 82

b=

1. BE- SEAEES

2. 3o

3.7dur

4. @S

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30849] Question Description : general_paper_genarel paper_set 11_english_q38
2[Option ID=30850]

3[Option ID=30851]
4[Option ID=30852]
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Given below are two statements :
Statement I : Flat plate collectors are example of simplest and most economic solar collectors.

Statement II : Some of the solar concentrating collectors essentially use flat plate collectors.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II s false.
4. Statement I is false but Statement 1T is true.

11

@) 2

3) 3

(4) 4

TR APy

B [ : RIT T Hoige, YR Doigex & Jallvs Td SR Halivd Haed] e & |
U 11 : BITIY TR YHEU Heige Sara: RiT T Haaex] P19 &d g
JRIF HUAI & Al |, -id [SU Iy e O I Ug! IR &1 994 Hifole:

1L PYF IR IS AT |
2. PYF [ AR IS ST |
3. PUT I TU R, AT YT I 3T € |
4. PYT 3T S, AT FUT I TI® |
@) 1
() 2
(3) 3
(4) 4

1[Option ID=30853] Question Description : general_paper_genarel paper_set 11_english_q39
2[Option ID=30854]
3[Option ID=30855]
4[Option ID=30856]
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Which one of the following air pollutants has a very strong affinity towards haemoglobin (Hb) of blood ?

1. Carbon dioxide (CO,)
2. Carbon monoxide (CO)
3. Sulphur dioxide (SO,)
4. Nitrogen dioxide (NO,)

(1) 1

(2) 2

(3) 3

(4) 4

Prafiiad 3 8 ©19-8 Hgue B 0 B SRR afther s & U srafie sy a8

1. BTE 515 STEES (CO,)
2. e HHGEES (CO)
3. FePY BT 3HHES (SO,)
4. TSI STg HFIZS (NO,)
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=30857] Question Description : general_paper_genarel paper_set 11_english_q40
2[Option ID=30858]
3[Option ID=30859]
4[Option ID=30860]
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Takshashila is an important archaeological site and UNESCO declared it to a world Heritage Site in the year

. 1980
. 1990
3.1992
4. 1978
1)1
(2) 2
3) 3
4) 4

A& T He@yul RRIaae e ¢ AR T A 24 fovd avf § ua oy eRiex wud Hiftd foear ur

. 1980
. 1990
. 1992
. 1978
1) 1
(2) 2
(3) 3
(4) 4

b2 =

R

1[Option ID=30861] Question Description : general_paper_genarel paper_set 11_english_q41
2[Option ID=30862]
3[Option ID=30863]
4[Option ID=30864]
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Who among the following founded the Imperial Library which he wanted to see as a Future Bodleian Library
or a British Museum of the East ?

1. Lord Curzon

2. Lord Canning

3. Charles Wood

4, Lord Mount baton

(1) 1
(2) 2
3) 3
4) 4

fFrafafaa o 9 feou sriifaa areskl & R 31 2, 59! a8 U@ WTat alsfor dressl a1 4d & U
fsfewr GueTe & =0 o S8 =Ed 22

1. 1S Poid
2. S BT
3. 91 38
4. 9IS Ardeaed
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30865] Question Description : general_paper_genarel paper_set 11_english_q42
2[Option ID=30866]

3[Option ID=30867]
4[Option ID=30868]
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IGNOU hosts secretariats of the SAARC consortium on open and distance learning (SACODIL) and the
Global Mega Universities Network (GMUNET), initially supported by :

1. UNDP
2. UNESCO
3. UNHCR
4. UNICEF
1)1
(2) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30869] Question Description : general_paper_genarel paper_set 11_english_q43
2[Option ID=30870]

3[Option ID=30871]
4[Option ID=30872]

Sl. No.44
QBID:11201044

What is the full form of 'SAMVAY' ?

1. Skill Achievement Matrix for vocational Assessment of Young
2. State Authority Ministry for Veterinary Achievement of Youth
3. Skill Assessment Matrix for Vocational Advancement of Youth
4. State Analysis Maintenance for various Analysis of Young

(1) 1

(2) 2

3) 3

4) 4

'SAMVAY' (UH.U.UH.d1.d18.) ST 01 11 &1 g2
1. 5@ fEiatic Afcas TR AIbId SRSHe 3H 3
2. wT R g ok deRad srllare e gy
3. [opa sriute Ofdad ®R didbyHd Usdiaie 3P gy
4, e U He-y ik ooy TR offs o
@) 1
2) 2
(3) 3
@) a

1[Option ID=30873] Question Description : general_paper_genarel paper_set 11_english_q44
2[Option ID=30874]
3[Option ID=30875]
4[Option ID=30876]
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Given below are two statements :

Statement I : As per NEP-2020, National Research Foundation (NRF) will constitute a National Committee
for the Integration of Vocational Education (NCIVE).

Statement IT : As per NEP-2020, Model Public Universities for holistic and multidisciplinary education, at
par with T1Ts, IIMs, called MERUS (Multidisciplinary Education and Research Universities) will be set up to
attain the highest global standards in quality education

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct,
2. Both statement I and Statement IT are incorrect.
3. Statement I is Correct but Statement II is incorrect.
4, Statement I 1s incorrect but Statement II is correct.
(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30877] Question Description : general_paper_genarel paper_set 11_english_q45
2[Option ID=30878]

3[Option ID=30879]
4[Option ID=30880]
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conilicts would be drastically reduced. But,
logically. this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.
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EEIRIERIN




Given below are two statements : One is labelled as Assertion A and the other i1s labelled as Reason R.

Assertion A : Historical evidence suggests that the frequency of conflicts between liberal and non-liberal
states is low.

Reason R : In liberal states, the decision to go to war is taken by the people, rather than by the monarch.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R iz NOT the correct explanation of A.
. A is correct but R is not correct.

. A is not correct but R is correct.

1)1
(2) 2
(3) 3
(4) 4

= & YA AT U §: U SHUHYT (Assertion A) & F9 8 [AR@d 8 ol GIR1 39D BRUI (Reason R) &
=g H,

1Y A : UETRe H1& 98 9N § & IR 3R SFER gl & &9 JuN 1 SRERA B4 ¢
PRUIR : &R Il H, I PR DI [-0[g &1 el 8, 7 3 Dig |
SR DY & el 1, 1= f3U 7Y faeui 8 1 9a8 3ugad 3R &1 99 Sl |

A SRR TSI € 3R R, A DI g ARSI

. A 3R R S &1 €, AP R, A P TE e AR B
3. A9El § U R 98T T8l ©
4. AEI 7ol g A R TRl B

@ 1

@ 2

(3) 3

) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-eited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states, Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conilicts would be drastically reduced. But,
logically, this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

FgfcIRad eIl &I ulgd 3R WY &1 IR I/ |

Hic & 38 a1d DI 1980 D G H YToifidd b 1 forgdh SR IER I U {RRAT Tl F 2 3aR
waimamﬁqﬂaﬁ%wa@mé@ﬁnﬁwwuaﬁéﬁ%%mﬂ@ﬁﬁw QY TT=T BI Goid
{31 ¢ 1 S & YR Hic Dl [ & & dcd 8- IaR Asd! T AT 3R 3Rl & Iy ra=i o
ARSI FIefSTl | geif Sfgyas= Hied didbdifie i SR &1 gH HXd U TN 8id 8, 39 b 1
ireit TR+t €7 & I Uyl € 1 ek o 59 Rigid & dTed §H & [T, 39 ayRon § 41T 3 Tl &1 59
S1d D1 WEIHIU &l a4 ¢ b IR A1 & &I g 1 3rqed/3{fadrd gl a1 g | bic 4 g ddb fear 41 i afe
TA-UIRT 61 (U IGHAR & SO Sd1 gIR1 &1 SI1al df Y9sf ol SRERAT 98d g1 &d gl Sl | didd difdbd T4
ﬁgﬂ%éﬂa{ﬁ JaR 3R 3HER IAl & sid YU D IRERA! [HHaR gH1 11 B, did Uidgiid died 24 faudia
o |

dlddiAd i AR & U Uh ddbicds WPia g 1 8l Y ¢ fb 3aR I Y9G 8id g 3R Femw
UGS AIG] AT DI g H Gog | FIATTId g1H U 35 oY &H 37R g1 S1e1 8- &1 Gedra-1 gidl 8 1 Jeidd:
‘ﬂa‘ff??%?n‘?{gmwtqm WA U8 YH-ARE 9 § b SR Il 1 3= 3eR Aol & U1y HeAIYuf Wiy 3@ &
g |

Identify the inferences that you can draw after reading the passage.

A. Frequency of conflicts among the liberal states is low.
B. Frequency of conflicts between liberal and non-liberal states is low.
C. Liberal states are generally rich.

Choose the correct answer from the options given below :

1. Aand B Only
2.B and C Only
A and C Only
A BandC

g ¥V

1) 1
(2) 2
(3) 3
(4) 4

T @1 Ug= & a1¢ 19 99 & Y HH-3 ey Foma I@d 82
A. IR Idl H U9 & SRERA PH ¢ |

B. 3aR 3R HER Il & di= 99y &1 gRERAl $H g
C. BER Iog R 4T B

19 fqu e fasedl § 9 9a Sugad SR &1 997 SIfe:

1. HadA IR B
2. HAAB AR C
3. PaAAIRC
4.A,B3RC

(1) 1
(2) 2
(3) 3
4) 4
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3[Option ID=30887]
4[Option ID=30888]
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conilicts would be drastically reduced. But,
logically, thiz argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

FrafaRad Tei=r &1 ufed SR Uy &1 IR aifol |

bic & 39 aTd Bl 1980 P =1 H YASIiad fhal a1 forddh J8R FaR AT 30 SRRAFT Tl H 30 3R
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Liberal states have very little to gain and much to lose by going to war.

Reason R : Liberal states are generally wealthy.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A.

Both A and R are correct but R iz NOT the correct explanation of A.
3. Ais correct but R is not correct.
4. A is not correct but R is correct.

(1) 1

(2) 2

(3) 3

4) 4

= & FYF T T & U SHUSYT (Assertion A) T F9 T [ARAT © T GIR1 39 BRUT (Reason R) P
=0T,

HfHYT A - GG P A ISR I! B AT FI 950 $H 3R 811 1 g e IR e 81
HRUIR : IGR 50 IHT: 490 5
SR DY & 3Tedlep H, I fGU 71U fasbeui § U a8 Iugad IR &1 90 Bifery |

AR REF TSI € SRR, A D! Tl AR B

A R R S 98 €. AP R, A 91 U s AT B
3. A¥Gl & Qi R 951 6l o
4. AR 71 § A R TRl B
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3) 3
(4) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-ecited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conilicts would be drastically reduced. But,
logically. this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

FrafaRad Tei=r & ufed SR Uy &1 IR aifol |

bic & 39 aTd Bl 1980 P =1 H YASIiad fhal a1 forddh J8R FaR AT 30 SRRAFT Tl H 30 3R
wa?mwwﬁqﬂaﬁ%wa@'@ma@ﬁﬂmwuaﬁéﬁ%%WW#w G T T ol
{31 ¢ | S & YR Bic Dl [T & & dcd 8- JaR Asdl T AT 3R 3SRl & Iy rai o
SRR eI | Tefl Sfyas- Hied Aidbdiie QiR SaURUN &1 GHIH & gL Udid 8id ¢, 39 dd &1
Hireit TR 4t € &1 I Uyl € 1 ek o 59 Rigid & dTed §H & [T, 39 ayRon § 4T 3 dTdl 1 59
|1 BT WPTH AT I D ¢ fob IR AUl & i gg 0l S¥ma/Hiadrd g1 71 g1 ic 9 Ig ddb fagn o1 {6 afg
TA-UART 1 (U IGHAR & SO ST R &1 SI1al df Y9uf ol SRERAT 98d g1 &d gl Sl | didd difdhd 4
@rsﬂ%?\a{%qu 3R 3HGR Il & sid YUuf &1 IRWRAT 7R g1 4 8, diidh Uiagiis T1ed 3qb fauid
s |

dAlsdide® i AR & U U ddbicdd WP g Hi 8l Y ¢ b IaR I 952G 8ld ¢ 3R Hem
IR aTe! Il BT o H g H GiFAferd g I 35 oy &H 3R gIi+ Sa1a1 81 &l WAHTaHT gl ¢ | g/dad:
ﬂaffﬂ%i;nﬁww@muaw;wam%%mwfrmmaﬂf%wuﬁaﬂqﬁwmﬁaﬁ
g l

What can be said about the liberal states after reading the passage ?

A. Liberal states tend to maintain peace with all other states.

B. Liberal states tend to maintain peace with other liberal states.
C. Liberal states tend to be wealthy.

D. Decizion to go to war is taken democratically in liberal states.

Choose the correct answer from the options given below :

1. A, B and C Only
2.B.Cand D Only
3. A, Cand D Only
4. A, B.CandD

1y 1

(2) 2

3) 3

(4) 4
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1.Had A, B3R C
2. %adAB, C 3ARD
3.Pdd A, C ARD
4.A,B,C3RD

1) 1

() 2

(3) 3

(4) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesiz need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conflicts would be drastically reduced. But,
logically. thiz argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.
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Given below are two statements :

Statement I : There exists international wisdom when it comes to relations with non-liberal states.

Statement IT : Liberal states tend to maintain enmity with other liberal states.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both statement I and Statement IT are incorrect.

3. Statement I is Correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II is correct.




1) 1
(2) 2
(3) 3
(4) 4

e Py fau Mg &

DY T : SER Aol I T TG & HIHA § UD SRS glGHr S g1

U 11 : IGR oY 3 FaR 1 & F1Y R 71U 3G B1 g 6 8
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1) 1

(2) 2

(3) 3

(4) 4
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Paper II : 80-Geography

Sl. No.1
QBID:180001

Which were the leading countries in the world in terms of forest depletion between 1990 to 2015 as per the Food and
Agriculture Organisation?

. Brazil and Democratic Republic of Congo
. Russia and China

. Brazil and Indonesia

. Russia and Canada

1) 1

) 2

3) 3

(4) 4

Wls; 3R PN TS B IR a4 1990 W 2015 T F&RUN &b e H FAfREd § U SIH-9 sEyui cxr & »
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1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=31301] Question Description : geography_geography_set-1_english_q1
2[Option ID=31302]
3[Option ID=31303]
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Which are the largest and second largest natural gas producing countries of the world according to United Nations Energy
Statistics 20227

. USA and Russia

. Russia and USA

. USA and Saudi Arabia

. Russia and Saudi Arabia
1) 1

) 2

e S R




3) 3
4) 4

Y 1Y FHol RS 2022 & IR 3 H UIpfdd 719 & G498 95 3R 5 §68 98 JACH a2

1. YO I SRS SR
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) 1

(2) 2

3) 3

(4) 4

EEN VR |

1[Option ID=31305] Question Description : geography_geography_set-1_english_q2
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Which of the following South American countries is part of OPEC bloc?

1. Argentina
2. Uruguay
3. Brazil
4. Venezuela
1 1
(2) 2
3) 3
4) 4

frafeiad & 9 SH-91 <& 3fRe! o2 w3ide: (W5 ) &7 27 g 2
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1) 1
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3) 3
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2[Option ID=31310]
3[Option ID=31311]
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Which of the following is applied in Image Enhancement procedure of digital image interpretation?

. Radiometric Correction

. Geometric Correction

. Spatial feature manipulation
. Noise removal

(1) 1

(2) 2

3) 3

4) a

ffored fda &1 e & fore Fafaiad o ¥ fay fde datH [l @1 sy faar Sarg 2

1. fafeeorfafas gur
2. I UR
3. R A& dgelld
—‘i.W{Noise)ﬁHﬂW
1) 1
(2) 2
3) 3
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When rocks fracture in earth crust and again the same rock masses move in different directions it is known as

. Fold

. Joint

. Fault
. Crack
(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31317] Question Description : geography_geography_set-1_english_q5
2[Option ID=31318]

3[Option ID=31319]
4[Option ID=31320]
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Which one of the following landforms is formed due to tectonic forces?

. Rift Valley

. Blind Valley

. U-shape Valley
. V-shape Valley
1) 1

(2) 2

(3) 3

(4) 4

fFafaRad el § ¥ & H-91 f9adiHe 9l & R Affagarg 2

1. Rue 91t

. 3y g1t

. U-3THR 91t
 V-3{EHR °1et
(1) 1

(2) 2

3) 3

4) 4
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Which of the following is not a fast type of mass movement?

. Rock fall

. Mud flow

. Bed rock slump
. Solifluction

e e




1) 1
(2) 2
(3) 3
(4) 4

FATIRad ¥ B ggd Jda $I dld ThR 81 8 2

1.2 fIRAT
2. Udh gdig
3. 2 IRd 3dda-

4. m (Solifluction)

(1) 1

(2) 2

(3) 3

4) 4
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Which of the following factor is not correct about development of tropical cyclone?

. Tropical cyclones are formed on ocean in low latitudes within 5° of the equator.
. The temperature of ocean must be greater than 26.5°C.

. Weak wind with little change in speed or direction with height needed.

. The atmosphere over the ocean must have high moisture content.

1) 1

(2) 2

3) 3

(4) 4

I Ted] Ihard & 994 & ey H HHiaRad § I HIH 91 HRS Yol Jel o 2

1. SUTGHicHs]l Tchard 5 &l ¥ Yredl & 50 & Uik 9g WaHd § |
2. G P AYHM a2 g1 26.5° 9. Y 31{¥e g =R |
3. 71fd 21T TS & 1Y G H SHded URadd & 91y & g 3199 d ¢ |
4. 995 & SR dgHSd ¥ 3= Mg dl 32 g1 d1igU |

1) 1

(2) 2

3) 3

(4) 4
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Which of the following is not correct about Koppen's climate classification?

1. Af — Tropical Humid Climate
2. BS — Dry Desert Climate
3. Cfb — Marine West Coast Climate
4. ET — Tundra Climate
(1) 1
(2) 2
3) 3
4) 4

HIUH & Sadrg il & Ydy I fgfafad d 4 ®radi 4gi g 2

. Af - SUTHICHHT 3T Seidryg
.BS - &b R Sdarg

. Cfb - GHAR UigHT e Sieddrg
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(1) 1

(2) 2

3) 3

(4) 4
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In the three-cell circulation model, the energy that drives Hadley cell is supplied by which of the following?

. The energy derived from coriolis force.

. The energy from the westerlies.

. The energy transferred from sub-tropical high pressure cells to doldrums.
. The latent heat released during the formation of cumulonimbus clouds.

R

(1) 1
) 2
(3) 3
(4) 4

-9 arel URETed disd H. g3l 3d &l I dlell ol bl [HafaRad § 9 fbd gR1 smufd &1 9l g 2
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1) 1
(2) 2
(3) 3
4) 4

[FN T

'

1[Option ID=31337] Question Description : geography_geography_set-1_english_q10
2[Option ID=31338]
3[Option ID=31339]
4[Option ID=31340]

Sl. No.11
QBID:180011

"Beaufort Scale" is a measure of ?

1. Wind Velocity
2. Wind Direction
3. Humidity
4. Snowfall

1) 1

) 2

3) 3

(4) 4

FHIE Whel' [hydh 9 g 2

GBI
. Uad fa=m
gl
femua

1) 1
) 2
3) 3
(4) 4

B s

1[Option ID=31341] Question Description : geography_geography_set-1_english_q11
2[Option ID=31342]
3[Option ID=31343]
4[Option ID=31344]

Sl. No.12
QBID:180012




Which ocean has the largest continental slope area?

1. Arctic Ocean
2. Pacific Ocean
3. Indian Ocean
4. Atlantic Ocean

1) 1

(2) 2

(3) 3

(4) 4

fafarad o 9 {69 HerR &1 yaife f[a%gd Jergiia eld 89 8 »

1. AThicdH HETHIR
. URIId 8RR
 fg—< HENrR

. 3fcdifcd HEMIR
1) 1

(2) 2

(3) 3

(4) 4

LS o]

I

1[Option ID=31345] Question Description : geography_geography_set-1_english_q12
2[Option ID=31346]
3[Option ID=31347]
4[Option ID=31348]

Sl. No.13
QBID:180013

Which of the following is most prone to Tsunami strikes?

1. East Coast of Africa
2. Atlantic Shoreline
3. European Shoreline
4. Circum-Pacific Shoreline
(1) 1
(2) 2
3) 3
(4) 4

fafeiRad d 9 & g ugRl 4 gaiidd 9% ¢ 2

1. 3BIPI DI Ydi ¢
 QRIUTg e 3@l
 OR-U=Id de a1
(1) 1

(2) 2

3) 3

(4) 4

S AT

1[Option ID=31349] Question Description : geography_geography_set-1_english_q13
2[Option ID=31350]
3[Option ID=31351]
4[Option ID=31352]

Sl. No.14
QBID:180014

Irminger current flows in which of the following ocean waters?

. South Atlantic
. North Atlantic
. North Pacific

. South Pacific
1) 1

(2) 2

(3) 3

(4) 4

B O R




TR Jd-4RT FfaRad # U {69 HgNITR & Sid | Udligd gidl g 2

1. Gf&mlt srecifes

2. I cdifed

3. I YT

4. ci&oft w=Id

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=31353] Question Description : geography_geography_set-1_english_q14
2[Option ID=31354]

3[Option ID=31355]
4[Option ID=31356]

Sl. No.15
QBID:180015

Which one of the following mineral nutrients is not the macro-nutrient required by plants?

1. Manganese
2. Magnesium
3. Phosphorus
4. Sulphur

1) 1

(2) 2

(3) 3

(4) 4

fafaRad & ¥ &IH-91 Us @i-sl UNe o UleUl o foll 31avgd iHy-UNe dw ol g ?

1. HES
2. BUfemH
3. BIEhRY
4. B

1) 1

(2) 2

3) 3

4) 4

1[Option ID=31357] Question Description : geography_geography_set-1_english_q15
2[Option ID=31358]
3[Option ID=31359]
4[Option ID=31360]

Sl. No.16
QBID:180016

Which one of the following option correctly describes the regressive population?

1. An unchanging fertility and mortality rates over a long period of time.
2. An increasing birth rate and high mortality producing a wide base pyramid.
3. A declining birth rate and low mortality rate producing a narrow base pyramid.
4. A high birth rate and high mortality producing a wide base pyramid.
1) 1
(2) 2
3) 3
(4) 4

FafaRId | -1 f[ddeg SreTH SHU8 & a8 H gl f[davu 2ffiedad H3di g 2

1. iddiferd sRafdd U SR g |

2. AT HYRY fURITTS [d Sl 9gdl SeR 3R I Jde |
3. G YR & RIS AT Sl gedl TR 3R FH o |

4. 0D YR b [ORIES FHHT Sl 3= FHeR 3R I JdaR |

1) 1
(2) 2
(3) 3
4) 4




1[Option ID=31361] Question Description : geography_geography_set-1_english_q16
2[Option ID=31362]
3[Option ID=31363]
4[Option ID=31364]

Sl. No.17
QBID:180017

What does replacement rate represents?

L. It represents total births per 1000 female population in reproductive age group.
2. It represents male births per 1000 female population in reproductive age group.
3. It represents female births per 1000 female population in reproductive age group.
4. Number of expected births per 1000 population.

1 1

(2) 2

3) 3

4) 4

UfRITI &3 991 ad Hal § 2

1. g YIS 3R THg 1 Uld 1000 ATGA ST IR Sl oI+ W1 DI Hdd Hdl ¢ |
2. U8 USHHIES 31 g D1 Ufdl 1000 AfgET SIEHEHT TR &Y S AT DI Hdd HRdl ¢ |
3. g USH-ID 1Y JHE B1 Ul 1000 AT SHREEHT R Higell S WA $l Hdd Bl ¢ |
4. Hfd 1000 SEEAT GR AT S DI T |

1) 1

(2) 2

3) 3

4) 4

1[Option ID=31365] Question Description : geography_geography_set-1_english_q17
2[Option ID=31366]
3[Option ID=31367]
4[Option ID=31368]

Sl. No.18
QBID:180018

Which one of the following sources of population data involves compulsory and legal registration of vital events such as
births, deaths, marriage etc.?

. Population Census

. Sample Surveys

. Registers of Population

. Epidemiological Reports

N

(1) 1
(2) 2
3) 3
4) 4

FfaRad & &1H-91 ST fidbe] Jid W "eA13 S - 5, g, {9418 3iife &1 3{fard 3R faftid gofidu
GHIEd AT S 2

1. ST SO
2. ufqe=i gdeu
3. SRS Bl TSl
4. SFUlGS I fa371H BT ufdded
1) 1
(2) 2
3) 3
4) 4

1[Option ID=31369] Question Description : geography_geography_set-1_english_q18
2[Option ID=31370]
3[Option ID=31371]
4[Option ID=31372]

Sl. No.19
QBID:180019




"Po river basin" is well known industrial region of which of the following countries?

. China

. Turkey

. Ttaly

. Uruguay
1) 1

(2) 2

3) 3

(4) 4

fgfciRad o U fioy <=1 | f9erd siielifite uer ol 44l §f{ safid g 2

R O R

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31373] Question Description : geography_geography_set-1_english_q19
2[Option ID=31374]

3[Option ID=31375]
4[Option ID=31376]

Sl. No.20
QBID:180020

"Transportation and the Societal Framework" work is associated with which of the following scholar ?

. Edward Ullman
2. M. E. Hurst
3.G.K. Zipf
4. John Friedman
1) 1
) 2
3) 3
(4) 4

fafaRad 8 9 69 [9g[ 9 <ryuceE U3 ¢ iEid bhHdd i S3Sig 2

1. USds JaH
2. THS. g
S, form
.S WIgSHA
1) 1

(2) 2

3) 3

(4) 4

Ju b

1[Option ID=31377] Question Description : geography_geography_set-1_english_q20
2[Option ID=31378]
3[Option ID=31379]
4[Option ID=31380]

Sl. No.21
QBID:180021

Identify the main products of truck farming and factory farming, respectively.

. Vegetables and Timber woods
. Corn and Meat

. Vegetables and Poultry

. Flowers and Fruits

(1) 1

(2) 2

(3) 3

(4) 4

B B




¢ Y TY HRYMH SV & HHA: THE FdTGD| DI UgH X |

1. gfeorT SR feraR dds]
. gfesTg 3R P IdIg
. d 3R ®d

(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=31381] Question Description : geography_geography_set-1_english_q21
2[Option ID=31382]
3[Option ID=31383]
4[Option ID=31384]

Sl. No.22
QBID:180022

Which country specializes in growing tulip flowers?

. Netherlands

. Denmark

. New Zealand
. Lebanon

(1) 1

(2) 2

3) 3

(4) 4

fFrafeiad § &1H-91 <21 Hfad g 3dTe | fAReiHu 3@di ¢ |

B B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31385] Question Description : geography_geography_set-1_english_q22
2[Option ID=31386]

3[Option ID=31387]
4[Option ID=31388]

Sl. No.23
QBID:180023

Consider the following pairs of localized diseases and area :

A. Acute Eucephilitis Syndrome — Western U.P.
B. Lathyrus — Chhota Nagpur Plateau

C. Fluorosis — Ganga Plain

D. Goitre — Himalayan region.

Choose the correct set of pairs :

1. A and B only
2. B and C only
3.B and D only
4. Aand C only

1 1

(2) 2

3) 3

4) 4




fafiRad R dHRal iR &5 & g R faar &Y -

A, AU ARG QMY A&7 - TIEH] 3R Yol
B. AUy - BIC] AN YRR

C. TIRITGY - T & HaH

1[Option ID=31389] Question Description : geography_geography_set-1_english_q23
2[Option ID=31390]
3[Option ID=31391]
4[Option ID=31392]

Sl. No.24
QBID:180024

Which one of the following parameter is not proposed by Kristof to distinguish frontiers and boundaries ?

1. Frontiers are outer-oriented whereas boundaries are inner-oriented.

2. Frontiers are areal and boundaries are linear in character.

3. The frontier is a manifestation of centrifugal forces whereas boundary is that of centripetal one.

4. A frontier is an integrating factor between states on either side, a boundary on the contrary, is a separating factor.

1) 1
(2) 2
3) 3
(4) 4

fafaRad O &F 1 Wi & iR T & o9 faves Ufdar s gRI Udifad 7l § 2

. iid &= 9fgyga@ gid ¢ Sidih uREHTE Sidv-3@ gidl ¢ |

 HHid & &Amed g R gRYIar [ Udhid SI gidl g |

. GH1d &9 IR 90 BT U 1R 3, Sdid RYH haliyRl ¢ |

. Iwid &1 Iodl & ol U G dRd g, TR 390 [Tuid U JUddRI HRG 3 |

1) 1
(2) 2
(3) 3
(4) 4

B

1[Option ID=31393] Question Description : geography_geography_set-1_english_q24
2[Option ID=31394]
3[Option ID=31395]
4[Option ID=31396]

Sl. No.25
QBID:180025

Which one of the following information is not collected as part of the National Population Register (NPR), Census of India
2011?

1. Date of Birth
2. Educational Status
3. Sex
4. Aadhaar Number
1) 1
(2) 2
(3) 3
(4) 4




Frafafad # 9 & Il THaRI AP e ISR, HRd Bl ST, 2011 H T8l §afgd ¢ 2

1. o faid

2. AMErH TR

3. fefmr

4. 3TYR AT

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31397] Question Description : geography_geography_set-1_english_q25
2[Option ID=31398]

3[Option ID=31399]
4[Option ID=31400]

Sl. No.26
QBID:180026

Which one of the following holy places of Buddhism is located at the eastern most longitude?

. Sarnath

. Bodh Gaya
. Sravasti

. Rajagrha

B R O R

1) 1
(2) 2
(3) 3
(4) 4

frafeiRad & 9 @1+ 91 ufas dig 4 & *id 94 Jd SR W YT g 2

1. gRAY
EIURIL |
YTl

LS I ]

=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31401] Question Description : geography_geography_set-1_english_q26
2[Option ID=31402]

3[Option ID=31403]
4[Option ID=31404]

Sl. No.27
QBID:180027

Which of the following district matches correctly with its major tribal group?

. Sabarkantha — Santhals
. Tawang — Adi

. Bidar — Bhil

. Birbhum — Gonds

(1) 1

) 2

3) 3

(4) 4

fafeiRad o O 1= 91 Sl 3R I ST 99 &1 g 9l g 2

B R R




1[Option ID=31405] Question Description : geography_geography_set-1_english_q27
2[Option ID=31406]
3[Option ID=31407]
4[Option ID=31408]

Sl. No.28
QBID:180028

Which of the following contains principles of trigonometry?

. Rihlah

. Geographia Generalis
. Suryasiddhanta

. Anthropogeographie

B R

1) 1
(2) 2
(3) 3
(4) 4

frafarad # 9 fead Bl & Rigid fleumu g -

1. Rgan

ST SR
. (gl
RO RTS]

(1) 1

(2) 2

3) 3

4) 4

LIS ]

I

1[Option ID=31409] Question Description : geography_geography_set-1_english_q28
2[Option ID=31410]
3[Option ID=31411]
4[Option ID=31412]

Sl. No.29
QBID:180029

Which of the following is remembered for prediction of an eclipse of the Sun and cosmology based on water?

. Thales

. Homer

. Anaximander
. Hecataeus

1) 1

2) 2

3) 3

(4) 4

frafaiad § 9 ford Yiuen & gafgam a1 oia oenid sieisfaqs & fau are fear smarg »

DI

B
SHAFIHS
fedhfeay

T O B

B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31413] Question Description : geography_geography_set-1_english_q29
2[Option ID=31414]

3[Option ID=31415]
4[Option ID=31416]

Sl. No.30
QBID:180030

Which of the following is accused of "leaving ge out of geography"?

1. Guyot
2. Ritter
3. Hartshorne
4. Humboldt




) 2
3) 3
(4) 4

ST & UG! Teg H Y SilS (Ge) Bl e &I 3R f9faRad o 9 foy R @ S g 2
1. T4
2. e

3. e
4. 6'135 o
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31417] Question Description : geography_geography_set-1_english_q30
2[Option ID=31418]

3[Option ID=31419]
4[Option ID=31420]

Sl. No.31
QBID:180031
o

The principle of "terrestrial whole" was advocated by which of the following experts?

1. Hartshorne
2. Blache

3. Ritter

4. Humboldt
1) 1

) 2

3) 3

(4) 4

RUE THY DI [gid FgfaRad § 9 {6y faxvgy 4 fear ar 2
R GEE]

o

A
3R I e

1) 1
(2) 2
(3) 3
(4) 4

B s

1[Option ID=31421] Question Description : geography_geography_set-1_english_q31
2[Option ID=31422]
3[Option ID=31423]
4[Option ID=31424]

Sl. No.32
QBID:180032

Which of the following statements is NOT true about Pearson's product-moment correlation coefficient 't'?

.'r' is simply a measure of the degree to which the two variables vary together.
.'r' is a non-parametric measure of the relationship between the two variables measured on nominal and ordinal scale.

1
2
3. The value of 't' lies between —1.0 and +1.0.
4. 'r' value is liable to spurious high if outliers are present in the data.
1 1
(2 2
3) 3
4) 4

FAfIRd HH-U1 Sy T8 IU1G-TR0 Ygua 0N v & R T gl el 6 2

' T 39 HHE1 &1 A g o aFf =R U 91y gRafdd gid ¢ |

- ATHE 3R il B9 UR Jiftd &l =Rl & did Hee ol surdicis A1 g |
W HIHAM-1.0 3R + 1.0H SdBidl g |

.fe 3fidel d fgaldl g df ' ®1 AF 3o YA 5l 9hdl ¢ |

(1) 1

(2) 2

B e




3) 3
(4) 4

1[Option ID=31425] Question Description : geography_geography_set-1_english_q32
2[Option ID=31426]
3[Option ID=31427]
4[Option ID=31428]

Sl. No.33
QBID:180033

Which type of scattering is responsible for red sunsets?

. Rayleigh

. Mie

. Non-selective
. Diffuse

1) 1

(2) 2

(3) 3

(4) 4

U0l BT DIF-91 USHR arferrrgul gaid & forg Swert §
1.3l

e S

LS T ]

o
ATATHS
fagRor

S

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=31429] Question Description : geography_geography_set-1_english_q33
2[Option ID=31430]

3[Option ID=31431]
4[Option ID=31432]

Sl. No.34
QBID:180034

The measured distance between two road intersections shown on a photograph is 10 mm on the photograph and 50 mm on
the map. If the RF of the map is 1 : 50,000, which one the following is the scale of the photograph.

L. 1:50000
2.1:250000
3. 1: 100000
4.1:25000

1)1

(2) 2

(3) 3

(4) 4

&l US® UldwbeHl & did HIfd g3l Blerumh W 1o fAHT. 3R AFfE W so .. uefkia &1 7 g | afe gt &1
3R .UE. (USRI 94) 1:50,000 g, A HBICUTH &1 HIUS &I AT g 2

1. 1:50000
2.1:250000
3. 1: 100000
4.1:25000

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=31433] Question Description : geography_geography_set-1_english_q34
2[Option ID=31434]
3[Option ID=31435]
4[Option ID=31436]

Sl. No.35
QBID:180035




Which of the following curve represents the proportion of Earth's land and sea floor areas?

Altimetric curve
Lorenze curve

. Hyetograph curve
. Hypsograhic curve

R

1) 1
(2) 2
3) 3
(4) 4

FofaRad § $H-91 96 gudl & YUIT/ YHs 3R 9Hg dd &3 & JUId & Uafid ddl g
1. Eﬂammaﬁ

3. aszmcﬁaa%
4. Iadielf (fgwmnithd) adb

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=31437] Question Description : geography_geography_set-1_english_q35
2[Option ID=31438]
3[Option ID=31439]
4[Option ID=31440]

Sl. No.36
QBID:180036

Which one of the following rivers and associated projects is correctly matched in terms of location of projects in correct
sequence from upper course to lower course of river?

Narmada River : Onkareshwar Dam — Narmada Sagar Dam — Sardar Sarovar Dam.
Chambal River : Gandhi Sagar — Jawahar Sagar — Rana Pratap Sagar.

Satluj River : Nathpa Jhakri — Harike Barrage — Bhakhra Dam.

Damodar River : Tenughat — Panchet — Durgapur Barrage.

R

(1) 1
(2) 2
3) 3
4) 4

FEfeIRad & 9 ® 9 U e 3R ST SIS URAISHIT el & SHUR HIT ¥ e HIT DT 3R Hgl b H uRarsaff
& R & TR GHd g 2

1. FHET Al ; MBIRAR dfY - THET YR diY - TRER WA a1 |
2. I 8] ; e YR - Sargr YR - AUMYdg IR
3. Yol 7al - mww e SRS - YR ST 9y
4, QTG TeT - I 91¢ - Udd - GITYR sRIST
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31441] Question Description : geography_geography_set-1_english_q36
2[Option ID=31442]
3[Option ID=31443]
4[Option ID=31444]

Sl. No.37
QBID:180037

According to Koppen's climatic classification of India large part of Arunachal Pradesh is represented by which of the
following set of alphabets?

Cwg
.ET
Aw
Dic

i S

@) 1
) 2




3) 3
(4) 4

DI & URA b Tedrg THIV & TR 3BT UG BT Hfhar Ui F4faRad o 9 f6g quier 9yg grI
TeRid fobar Srar g 2

1[Option ID=31445] Question Description : geography_geography_set-1_english_q37
2[Option ID=31446]
3[Option ID=31447]
4[Option ID=31448]

Sl. No.38
QBID:180038

Which of the following rivers have the largest drainage basin area?

. Kaveri

. Chambal
. Narmada
. Sutlej
(1) 1

(2) 2

(3) 3

(4) 4

FrafaRad 7 ¥ 69 1 &1 3uarg o & Jeu 9318 2

T O B

1[Option ID=31449] Question Description : geography_geography_set-1_english_q38
2[Option ID=31450]
3[Option ID=31451]
4[Option ID=31452]

Sl. No.39
QBID:180039

Which of the following steel plants in India is located near the coal mines?

1. Rourkela
2. Bhadravati
3. Bokaro

4. Bhilai

1) 1

(2) 2

(3) 3

(4) 4

YR H (FEeRad & U &1H-91 381d 947 Siad @aH & Hdbe [Rd g 2

1. I3l
2. HgTqd!
3. SIBRI
IRERIE
1) 1
(2) 2




3) 3
(4) 4

1[Option ID=31453] Question Description : geography_geography_set-1_english_q39
2[Option ID=31454]
3[Option ID=31455]
4[Option ID=31456]

Sl. No.40
QBID:180040

In which one of the following collision zone, plates permanently unite with no further tectonic activity?

. Spreading zone

. Subduction zone

. Continental suture
. Transform zone
1) 1

(2) 2

(3) 3

(4) 4

%ﬁfﬂﬁf@aﬁﬁﬁmmﬁtw}%ﬁ@ﬁwﬁwﬁ@aﬁﬁ%awm&ﬁﬁaﬁaﬁéﬁaﬁ%wwm
% |

. UYR] Hed
g HSA

. HelgIdlg ¥
TR HUSd
(1) 1

(2) 2

(3) 3

(4) 4

B O R

B

1[Option ID=31457] Question Description : geography_geography_set-1_english_q40
2[Option ID=31458]
3[Option ID=31459]
4[Option ID=31460]

Sl. No.41
QBID:180041

Which of the following statements are true about seismic waves?

A. The velocity of P-wave depends upon density and distortion to compression of rock traversed.
B. P-wave travels faster than S-wave.

C. L-wave follows zig-zag path and arrive later than P and S-waves.

D. The velocity of S-wave depends upon density and resistance of rock transversed.

Choose the correct answer from the options given below :

. A and B Only
.Cand D Only
.Aand C Only
.Band C Only
(1) 1
(2) 2
3) 3
(4) 4

B S R e




FafRad o B9 By bk aill & IR § 981 g 2
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1[Option ID=31461] Question Description : geography_geography_set-1_english_q41
2[Option ID=31462]
3[Option ID=31463]
4[Option ID=31464]

Sl. No.42
QBID:180042

Which of the following statement is / are correct about plate tectonics?

A. Plate tectonics are major forces behind formation of topographic features of earth surface.
B. Mid-oceanic ridges are destructive plate boundary with deep-focus earthquake.

C. Radiogenic heat is the force behind plate tectonic.

D. Rocks break and move along plane of breakage is known as fold.

Choose the correct answer from the options given below :

1. A Only

2. Aand C Only
3. B and D Only
4. B and C Oaly

1) 1
(2) 2
(3) 3
(4) 4

frafiRad # o19-91 ¥ $¥ wie f[dadiel & SR A TSI /8 2

A. wie faqdie! Y.dd & Riedidd deol & Fafu o e ad ¢ |

B. UGN S TMgl-3iHb=d Ydbul ardll [dwayed we YRErg |
. ST YichgaeHg (ISTmiiHe) 31 &ie faadi-al & Ui Migd dd g |
D. Ud [GWEd g WISd dd & I 711d FRdl g o1 deid dgl Aidl o |
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1.hdd A

2. FATA SR C
3. HIdB 3R D
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1) 1
) 2
(3) 3
(4) 4

1[Option ID=31465] Question Description : geography_geography_set-1_english_q42
2[Option ID=31466]
3[Option ID=31467]
4[Option ID=31468]

Sl. No.43
QBID:180043




Identify the correct statements from the following :

A. The northern western Himalayan states are more vulnerable to earthquakes and landslides.
B. There is a high possibility of occurance of voleanoes in Himalayan mountains.

C. The prediction of earthquake is possible now a days.

D. Anthropogenic activities are accelerating geomorphic hazards in Himalavan states.

Choose the correct answer from the options given below :

. A and B Only
.Band C Only
. Aand C Only
.Aand D Only
(1) 1
(2) 2
3) 3
4) 4

FfRad &uEl ° U el dyl & UgaH ST -

A. IR UlgHt AR e Yoy 3R YRaa 9 U6 gUS ¢ |

B. fearad udd #Rgal § STl UG e B UG 36 3 |

C. NS YU HT G YT ¢ |

D. AHaS® Tiafaieai igaredt Il § Y- sfididd Wkl @ @aRd HIEI G |
1 U T fashed! H T Gad IUged 3R &1 98- BT ;

1. hdd A 3R B
. FIAB 3R C
3. PAdASMRC
4. 9dd AR D

1) 1
(2) 2
(3) 3
(4) 4

B R

1[Option ID=31469] Question Description : geography_geography_set-1_english_q43
2[Option ID=31470]
3[Option ID=31471]
4[Option ID=31472]

Sl. No.44
QBID:180044

Which of the following is / are non-structural measures used to mitigate floods?

A. Maintaining wetlands.

B. Prevention of over-bank spilling by the construction of embankments and flood walls.
C. Flood forecasting and warning services.

D. Disaster relief, flood fighting and public health measures.

Choose the correct answer from the options given below :

. Aand B Only

. Aand C Only
.B. C and D Only
. A, Cand D Only
1) 1

(2) 2

(3) 3

(4) 4

B R




a1 § Sl i & o FEfafad § 9 & 91/ BiF 9 RS 3 / U &l W a1 SIdr g 2

A. 3Td Y[H 1 ST G|

B. dcddl 3R a1 14l Slari & AU gRI de/fhAR ¥ HW Hiddrg &i AHYH |
. 91¢ & IR H Higwamft 3R <qra-t gart |

D. 3UGI G, d¢ BT UIRIY HAT 3R Fidui-d W 3uH |

H1d feu e fadhet! | T IEl SR &1 98- Biforu :

1. hdd A 3R B
). FAT AR C
3. $dd B, C AR D
4. BdA A, C 3R D

1) 1
) 2
(3) 3
(4) 4

1[Option ID=31473] Question Description : geography_geography_set-1_english_q44
2[Option ID=31474]
3[Option ID=31475]
4[Option ID=31476]

Sl. No.45
QBID:180045

Which of the following organic molecules contain nitrogen?

A. Amino Acids

B. Ozone

C. Peptides

D. Proteins

E. Carbon Monoxide

Choose the correct answer from the options given below :

l. Aand B Only
2.B and C Only
3. A, Cand D Only
4. A, D and E Only
1) 1
(2) 2
3) 3
(4) 4

Fafafad 8 9 S i o] g, o Ageior wifay gidi g 2

A. UfEAT o
B. 3flSiF

. ypiEsd

D. Ul¢H

E. BlE A

i fau e fassedl § 9 Ul 3wk &1 99+ Diforu ;

1. $Hdd A 3R B
. FIAB 3R C
3. Fdd A, C 3R D
4 HIAA. D 3IRE

1) 1
) 2
(3) 3
(4) 4

1[Option ID=31477] Question Description : geography_geography_set-1_english_q45
2[Option ID=31478]




3[Option ID=31479]
4[Option ID=31480]

Sl. No.46
QBID:180046

Which of the following options correctly represent the different categories of work status as per the Census of India, 2011?

A, 0-3 months
B. 3-6 months
C. 0-60 months
D. 6-12 months
E. 1-2 year

Choose the correct answer from the options given below :

.A, B, D, E Oualy
.C,D, E Only
.B, D, E Only
.A,B.D Ouly
(1) 1

(2) 2

3) 3

4) 4

YR DI SFRIVAL, 2011 & SUR, B R ST 12 41071 &1 FHfeiRad o 9 B I1 fdded 981 e I WEd ddl g 2

A.0-3HIg
B. 3-6 HIg
C. 0-60 HIg
D.6-12 HIg
E.1-2@dY

i fau U faseul ¥ 9 Hel 3wk &1 99+ Difor :

1.$ddA. B, D.E
.$HddC, D, E
3. $dd B, D, E
4. $dd A, B.D

(1) 1
(2) 2
(3) 3
(4) 4

B O R

-2

1[Option ID=31481] Question Description : geography_geography_set-1_english_q46
2[Option ID=31482]
3[Option ID=31483]
4[Option ID=31484]

Sl. No.47
QBID:180047

Which of the following elements accurately represent features of urban morphology of a town?

A Internal Structure and arrangement of towns.
B. Arrangement of roads and building in town.
C. Functional zones within a region / district.

D. History of development of country / region.
E. Land uses planning in towns.

Choose the correct answer from the options given below :

.A,B.C,D Only
.A,B,C,E Only
. A, B, E Only
.A,B,D, E Only
1 1

(2) 2

(3) 3

(4) 4

B R




fhl TR &1 TR HDIRDT B fa=ivds o FafaRad # 9 & d d50 Il &7 U URdd did g 2

A. TR B 3HTdRS Y1 Ud TRl BT (9079 |
B. 'R H ARl U4 el &1 [d1 |

c. T3l &7/ 9Hue & HiR YhrRids |@us |
D. G/ &3 & [dH1Y B 3(d8 |

E. IRI 9 Y 39 fAgieH

I feu T fashedl ® ¥ It STk b 98 Hifei :

1. $ad A, B,C.D
2. BAd A, B, C,E
3. $hdd A, B, E
4. HITA.B,D.E

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=31485] Question Description : geography_geography_set-1_english_q47
2[Option ID=31486]
3[Option ID=31487]
4[Option ID=31488]

Sl. No.48
QBID:180048

Which of the following statements are correct?

A. Coffee is native plant of the Southern Ethiopian highlands.

B. Merino sheep are kept chiefly in the drier and warmer regions of temperate latitudes.

C. The most important factor affecting the silk industry is the availability of cheap female labour.
D. Robusta coffee is the most important in world trade among three major types of coffee.

E. Coffee contains tannin acid.

Choose the correct answer from the options given below :

. A, Cand D Only
. A, Band C Only
.B. D and E Only
.C,D and E Only
1)1
(2) 2
(3) 3
4) 4

PR A PH-U HYA T8I 2

A. BIP1 G0 SUIUTH S YA S g YIe g |

B. QIO 3{&T=1T & Ioh T4 TH Y= T TR HRAI US! Bl [T g |

C. XM JENT D1 YHIfAd DR dTell Yol Hgedyui SR & Aigell 4THD] Bl JUASAT T |
D. BIBI & diF T UbRI H, AR BIb1 &1 {9y AR ¥ Gaifdd 7gd g |

E. BIGI T ¢ SEA gIaT g |

i feu 7T fash el ® ¥ et SR BT T DT :

1. BAdA, C3R D
2. FAAA. B AR C
3. $ad B, D 3R E
4.P9dC, D3R E

1) 1
(2) 2
(3) 3
(4) 4

B O R

1[Option ID=31489] Question Description : geography_geography_set-1_english_q48




2[Option ID=31490]
3[Option ID=31491]
4[Option ID=31492]

Sl. No.49
QBID:180049

Which of the following measures are considered in the United Nations Human Development Index (HDI)?

A. Per capita income

B. Literacy

C. Life expectancy

D. Infant mortality rate

E. Per capita energy consumption

Choose the correct answer from the options given below :

4) 4

7% # 9 B I ATUD S Y A fdb g Yadbic (HDI) H 9ifad ¢ 2

A Ufd Al 3mg

B. GI&Rdl

C. SiTa- U

D. RYAg R

E. Uld &fdd Sl SUHNT

I feu T fasedl ® ¥ It STk &1 95 Hifeie :

1.$bdd A, B.E
.$ddA.D.E
3. Hdd A, B, C
4.Hdd A, C,D

(1) 1
(2) 2
(3) 3
(4) 4

b2

1[Option ID=31493] Question Description : geography_geography_set-1_english_q49
2[Option ID=31494]
3[Option ID=31495]
4[Option ID=31496]

Sl. No.50
QBID:180050

Consider the following assumptions of regression analysis.

A. The values of dependent variable are normally distributed.

B. The values of residuals have skewed distribution.

C. The variance of dependent variable is constant for all values of the independent variable.
D. The values of the residuals are independent to each other.

Choose the correct answer from the options given below :

.Band D Only

. Aand B Only

. A, Cand D Only
.B. C and D Only
(1) 1

(2) 2

(3) 3

(4) 4

B O R




g faelsor o Fafeiyd gdurums|f iR fddR SIfT |

A MR R P g (@G- &1 (R0 GHEHRI BT g |

B. 3{dRF[ & Tl &I [daR0l [qYA AT § |

C. FUR =R &1 YR oA TR & 9l el & foru Fad giang |
D. fAfRIF & I U g U WA Bl ¢ |

T fau Tu fadedl § 9! 3Tk &1 94+ HifoIu -

1. $Hdd B AR D
. Fad A IRB
3. FIA A, C 3R D
4.$Ad B, C 3R D

1) 1
) 2
3) 3
(4) 4

1[Option ID=31497] Question Description : geography_geography_set-1_english_q50
2[Option ID=31498]
3[Option ID=31499]
4[Option ID=31500]

Sl. No.51
QBID:180051

Consider the following statements about transport and infrastructure in India.

A. National Highways constitutes less than 2% share to the total road network of India.

B. BRO (Border Road Organization) has taken up project for construction of infrastructural facilities like schools,
hospitals and airport buildings also in inaccessible areas.

C. Indian Railways has been divided into 16 zones for its operation and management.

D. HBJ (Hazira-Bijaypur-Jagdishpur) pipeline was developed to supply the crude petroleum for refining to the continental

parts of India.
Choose the correct answer from the options given below :

A, B, C Only
B, C,D Oaly
A, C.D Ounly
A, B, D Ouly

e

(1) 1
) 2
3) 3
(4) 4

HRA H ATarITd 3R R O Heled FY Syl &1 3adid- &3 |

A. HRd & YT G ead # AP ASHNT &1 g8 2% F H HHT |
B. IR (A G Wie) 3 giin &5 7 W, SRUdId 3R gars 35l & gARG! sid g ardt gfaur & Fmfn &

ferg i oS 2 1 € | _
C. HRAHI ¥d &I Tl 3R UeieH & fld 16 114 § fquiford fdar man g |
D. Td &1 9l (BRI - [AeigqR - SHIGIRIYR) YISUdrg & (a0 d=d Yiierad & =iy & 67U 39! 31gfd YRd &

TRTEIUT 4T H &R & o fpar T g |
i feu U fasmetl § 9 Uel 3wk &1 99+ Diforu -

|.$AAA.B.C
2.$dd B, C,D
3. $hdd A, C,D
4. hdd A, B, D

1) 1
(2) 2
3) 3
(4) 4




1[Option ID=31501] Question Description : geography_geography_set-1_english_q51
2[Option ID=31502]
3[Option ID=31503]
4[Option ID=31504]

Sl. No.52
QBID:180052

Which of the following statements are correct?

A. Reddy is the dominant land owning caste of Tamil Nadu.
B. Jat is the landless caste of Haryana and UP.

C. Kurmi is the agrarian caste of eastern India.

D. Patel is the land owing caste of western India.

E. Namboodari are the brahmin of Kerala.

Choose the most appropriate answer from the options given below :

. A, B, C Only
.B,C,D Only
.C,D, E Only
.B, C.E Only

1) 1
) 2
(3) 3
(4) 4

A Y DH-Y HYT LI g 2

A. YS! AHCHIg &1 Uy @Il / U Y Sifd g |
B. SRAMN 3R IR U H e YAgH SiIfd ¢ |

C. BH gdl YR & HIY a9l (Gyd) |fd ¢ |
D. Ucdl UiHH YRA DI YXI1H! ST ¢ |

E. Tigad X & Jev g |

i feu e fadhed! H T gad IUged 3R &1 98- BHiforu ;

1. $dAd A B, C
.$ddB,C.D
3. H4d C,D,E
4.$ddB,C.E

1) 1
(2) 2
(3) 3
(4) 4

B R B

[

1[Option ID=31505] Question Description : geography_geography_set-1_english_q52
2[Option ID=31506]
3[Option ID=31507]
4[Option ID=31508]

Sl. No.53
QBID:180053

Which of the following statements are correct about Chinese contribution to Geographical thought?

A. Chinese scholars first developed a scientific method of cartography based on a rectangular co-ordinate system.
B. They were the first who put forward the idea of the periodic nature of the monsoons.
C. They recognized that Africa was a southward pointing triangle whereas on contemporary maps it was always

represented as pointing eastwards.
D. They opined that "geography is not concerned with the individual plants but rather with the plant and animal cover".

Choose the most appropriate answer from the options given below :

.Band C Only
. Cand D Oaly
. Aand B Only
. Aand C Only
(1) 1
) 2

B O R




3) 3
(4) 4

Hrmferd AT # I S qe & R A Fefafad a3 P d sy el g 2

A. I & fagHl A B R &S Ul & SYR IR A= b 93l (i 6! Ga9 ugd faaiyd far |

B. 32 AHYA &I it Upid &1 faaR Jad Uge Uwdd fbar |

C. 351 Udl I & 31bTehT AYSIIeR ¢ fordeht XY afamr &1 3R g Sidid HaTc AFEl § 39T 2 3ad
Ud &1 3R i o |

D. 3T Hd AT fd f1idl T T ST e uieft § AT dfcen Tlelf 3R Gl & R g !

i feu e fadhed! H T gad IUged 3R &1 98- BHiforu ;

1. $IAB 3R C
2. $Had C 3R D
3. %dd A 3R B
4. HITASRC

1) 1

(2) 2

3) 3

4) 4

1[Option ID=31509] Question Description : geography_geography_set-1_english_q53
2[Option ID=31510]
3[Option ID=31511]
4[Option ID=31512]

Sl. No.54
QBID:180054

Which of the following statements are correct?

A. Knowledge Processing Outsourcing (KPO) comes under quinary services.

B. Research and Development (R and D) activities and e-learning are examples of Business Process Outsourcing (BPO).
C. The BPO is distinct from KPO as it involves highly skilled workers.

D. Outsourcing is coming to countries like India due to availability of cheap and skilled workers.

Choose the most appropriate answer from the options given below :

1. B and D Only
2. Aand D Only
3. Aand C Only
4. A, C and D Only
1 1
(2) 2
3) 3
4) 4

T A I DT I DY HeI g 2

A, TS R SIS (&5.U1.311.) U= Jdradi & i Sl g |

B. XM¥ U4 [dHMN (3R, TS S1.) Mafalerdl SR 3-af-i1 [So-9 U Sr3ewiid («l.ul.3M.) & 3areru g |
C. 9 1UL3IL, B.UL3L U 49§ i SUH I BI=Ie U ifes i gid ¢ |

D. T 3R Bl 48! Hi IuSIAl & BRI URT oY G H 3SR 3G ¢ |

Td feU 7T fadhed! ® § ot IUGH IR BT 99 Hiford :

1. %dd B AR D
2. FITASMRD
3. PAdASRC
4. $ad A, C IR D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31513] Question Description : geography_geography_set-1_english_q54




2[Option ID=31514]
3[Option ID=31515]
4[Option ID=31516]

Sl. No.55
QBID:180055

Which of the following statements are correct ?

A. The total value of goods and services traded is considered to be the volume of the trade.

B. Volume of trade includes only trade of goods.

C. India is founder of ASEAN bloc.

D. The practice of selling a commodity in two countries at a price that differs for reasons not related to costs is called
dumping.

Choose the most appropriate answer from the options given below :

1. Aand C Only
2. Aand D Only
3.B.C and D Only
4. B and D Only
1) 1
(2) 2
3) 3
(4) 4

fFaffad I s I pyT el g2

A. 93 3R Yaraii & AR & Dol G Bl IR bl TRHET AHI SG1E |

B. UR & URATU H thad a¥gail &1 AR HHfed g |

C. YR YT (TUY3.UTH.) & YRS TS ¢ |

D. AFTd &1 € Y !, a3 -1 PRUIN Y el 3{TRT HiHd UR [l 9% Pl al o=1 H [ahg 63 @l Ul &l S
B Bl Al g |

1 U T fashed! H T Gad IUged 3R &1 98- BT ;

1. Hdd A 3R C
2. FITA3RD
3. $HaA B, C 3R D
4 HAAB AR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31517] Question Description : geography_geography_set-1_english_q55
2[Option ID=31518]

3[Option ID=31519]
4[Option ID=31520]

Sl. No.56
QBID:180056

Which of the following are correct statements ?

A. Fossil fuels and nuclear fuel are non-renewable sources of energy.

B. The sources of renewable energy are mainly forces of nature that are sustainable and that usually cause huge
environmental pollution.

C. Energy use is one of the main contributor to human-induced climate change.

D. There are zero emissions of green house gases from nuclear power plants.

E. The relative prices of the different types of energy do not influence demand.

Choose the most appropriate answer from the options given below :

. A, C and D Only
. A, D and E Only
.B, D and E Only
.C,D and E Only
1) 1
(2) 2
(3) 3

o




4) 4

fFaffad A I s I sy gl g2

A. SITATRY 3¢ 3R TRAY] ¢ Foll & GOV Fid § |

B. AR $Hll & Hid G Uopld 1 Aldedi g, Sl HYRU § 3R IR TR YR 0aiaRuig Ugyur Ul Sl g
|

C. Sl &1 UGN HHG-Ugd Sdary] URdad § U U4 giieHabdi 6 |

D. TR 2fekd =1 F UHST3Y T4l &1 Y SHSiA gidl § |

E. Foll & it UDHRT &1 HIUTES HITd TiT bl YuTfad e Hdl |

1d feU 7T faded! | § 9ot SUGH IR B 99 Hifold :

1. HdT A, C 3R D
2. $dd A. D 3R E
3. $dd B, D 3RE
4. HadC,D3RE

) 1

() 2

(3) 3

4) 4

1[Option ID=31521] Question Description : geography_geography_set-1_english_q56
2[Option ID=31522]
3[Option ID=31523]
4[Option ID=31524]

Sl. No.57
QBID:180057

Which of the following statements are NOT correct with reference to Von Thunen's Agricultural Location Theory?

A. His ideas were based on Weaver's concept of economic rent.

B. Navigable river or irrigation facilities do not have any impact on concentric land use zones.
C. In real life farmers are always economic and rational in decision making.

D. Firewood and timber production zone has lost its validity.

E. Isotrophic surfaces are universal in Asia.

Choose the most appropriate answer from the options given below :

. A, Cand E Only

. A, Band C Only
.C.D and E Only

. A, B, CandE Only
(1) 1

) 2

3) 3

(4) 4

ot U I SRR Rigid & e & FaRied Sl § 3§ @ o 98 T8 8 2

A. 3Ad (AR dIaR B A T B FURUNWR AR S |

B. Ghaid YT SUANT US| H AIETa-id A1 41 TS Bt iaenaii o1 dig U4a Tgl gial g |
C. aRdfad ofigd # forar Uea 3nfife ok ghara ePau 3 v oed € |

D. 34q Aol 3R IR ddo! & 3dGH & dUd @I & g |

E. ORI & gu=tt ad 9duifie § |

d feU 7T faded! | § 9ol SUGH IR B 99 Hifold :

1.$dd A, C 3R E
2. FAAA. B AR C
3. $ad C, D 3R E
4. $dd A, B, C 3RE

1) 1
) 2
3) 3

B O R




4) 4

1[Option ID=31525] Question Description : geography_geography_set-1_english_q57
2[Option ID=31526]
3[Option ID=31527]
4[Option ID=31528]

Sl. No.58
QBID:180058

Consider the following statements related to man-nature interaction.

A. In Himalayan region pine trees are more prone to forest fire.

B. Shifting of cropping pattern from diversified crops to monoculture is a threat to food security in India.
C. Slum habitation is associated with metropolitan cities only.

D. Alternate cultivation of wheat and rice in rabi and kharif season deteriorate the nitrogen in soil.

Choose the most appropriate answer from the options given below :

. A, Band C Only
. A, Band D Only
.B. C and D Only
. A, CandD Only
(1) 1
(2 2
(3) 3
4) 4

AHG-UD(d B Sid:fhar & Yeo o Fafeiigd syl . e <)

A. TEHTCTE Ue= 1 <t (UTS ) & 9ai H F-3 1 34 YU BT |

B. fafdy BYdl ¥ Udhdl BY (Tdh B &1 3R BYd UfdeT § gRadT U YRd § @re] Y& & @i g |
c. TfeH SRl § (Hary dad JgHRI Y Yefed € |

D. &l 3R W® 31 Fgefi § 1 IR 99d 31 dbfedd Wdl I Y & A5eor 1R Ea g |

I TeU 7T fadhed! H § ol IUGH IR B 99 Hiford :

1. HId A, B3R C
2. A A, B 3R D
3. $ad B, C 3R D
4. $ad A, C 3R D

1) 1
(2) 2
(3) 3
(4) 4

B R

1[Option ID=31529] Question Description : geography_geography_set-1_english_q58
2[Option ID=31530]
3[Option ID=31531]
4[Option ID=31532]

Sl. No.59
QBID:180059

Consider the following statements related to infrastructure, literacy and natural resources of India.

A. Indira Gandhi canal originates from Harike Barrage at the confluence of Satluj and Ravi rivers.

B. Effective literacy rate is calculated as the number of literate persons out of the total population aged 5 years and above.
C. Project Tiger was launched in 1973 with 9 tiger reserves and by 2018 it reached to 50 tiger reserves.

D. Gujarat accounts the second largest mangrove forests in India.

Choose the most appropriate answer from the options given below :

. A and B Only
.Band C Only
.Cand D Only
. Aand C Only
1 1
(2) 2
3) 3
(4) 4

B e R




frafaRad aredl TR faaR ST S S[auR=H1, YIERdT iR HRd & Uidhidd durel 9 J&fid ¢ |

A. ST Tiedt TR Fderel 3R 4t Afeal & H W g SRS A el © |

B. YHTAT (HWhdl) &R &R DI TTUET 5 99 SR 4D 3 B Dol SAEIG1 H U F1eRl & =1 ¥ &1 ordl g |

c.amtrf{uﬁgmam SRY 1973 H o 9197 & RIET 3GRUY Y a1 71 41 511 2018 H &€l & 50 WRIE 3GRVY b
Jgd A1 ¢ |

D. ToRTd HRd H GO Yad §31 {919 99 39dl § |

1 U U fashed! H T Gad IUged 3R &1 98- BT ;

1. $Hdd A 3R B
. FIAB 3R C
3. Had C 3R D
4. PATAIRC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31533] Question Description : geography_geography_set-1_english_q59
2[Option ID=31534]

3[Option ID=31535]
4[Option ID=31536]

Sl. No.60
QBID:180060

Which of the following trenches have depth less than 10,000 metres?

A. Kurile Trench

B. Puerto Rico Trench
C. Java Trench

D. Tonga Trench

Choose the correct answer from the options given below :

. Aand B Only
.Band C Only
.Band D Only
.Cand D Only
1) 1
(2) 2
3) 3
(4) 4

ffaIRId § I fdo @13dl &1 18RS 10,000 HER Y HHG 2

A P @
B. el Jid! @
C. Jar|@rs
D. CHI @8

Id feu 7 fadhed! & § 9a¥ IUgdd IR &I 99 Hifold :

1. $Had AR B
>, HIAB IR C
3. $IdB 3R D
4. HId C 3R D

1)1
(2) 2
(3) 3
(4) 4

B R

1[Option ID=31537] Question Description : geography_geography_set-1_english_q60
2[Option ID=31538]
3[Option ID=31539]
4[Option ID=31540]




Sl. No.61
QBID:180061

Which of the following statements about impact of climate change on oceans are not true?

A. The oceans have become less acidic over the past few decades.

B. The sea surface temperature has increased during the last century.

C. Sea level has risen at the rate approximately six-tenth of an inch since 1880.
D. The oceans will store less carbon-di-oxide in the coming vears.

Choose the most appropriate answer from the options given below :

. A and B Only
. Aand C Only
.Band C Only
.Aand D Only
1 1
(2) 2
3) 3
4) 4

TEMNIRI TR Scar] URdcd & THTE & aR H FEfaRad O 9 &F 3 HoU- Il 71 § 2

A. T97d 3% GUD! U TENFR & g 99U S |

B. U@l dedl & SRA YL Gag & Ay B diS ge ¢ |

C. 1880 Y USSR H U 39 &b THTHIT 6/10 d YT DI &R U gl g5 6 |
D. TSR 3T a8 § &H BIe-S15- Hq12s &1 HSRU B |

e U 7T fadhed! H T Gad IUgad 3R &1 98- HIIU ;

1. $had A 3R B
2. FITA SR C
3. HdAB 3R C
4.9Hdd A AR D

(1) 1
) 2
(3) 3
(4) 4

B R

1[Option ID=31541] Question Description : geography_geography_set-1_english_q61
2[Option ID=31542]
3[Option ID=31543]
4[Option ID=31544]

Sl. No.62
QBID:180062

Which of the following statements are correct about Coriolis force?

A. Coriolis force is present in all motion relative to Earth.

B. Coriolis force is maximum at equator and zero at pole.

C. The strength of Coriolis force varies with speed of motion and also decreases with latitude.

D. The amount of deflection caused by Coriolis force varies according to rotation of earth, longitude and object.

Choose the correct answer from the options given below :

1. Aand B Only
2.B and C Only
3. Cand D Only
4. Aand C Oaly

1) 1

(2) 2

(3) 3

(4) 4




DR g & dae J FHfaRad # 4 o[ 4 $UT Ugi ¢ 2

A. BIRHTTTY o gedi & grae gufi iaqgl § Sufida g |

B. HIRAT §6 YHERWI W HUHdH 9 4di R YA Bl |

C. PINHITAY e DI fekd 7T & o7 b U1 URafdd gldl g IR & & WU ged i g |

D. BRI 96 & HRUI G fadad & AE1 Jedl & gUiH, SRR 3R 9% & IR Mgl ¢ |

A fau e fasmeul § O Ul 3wk &1 99+ Difor

1. hdd A 3R B
. FAAB AR C
3. HIAC 3R D
4. PAT AR C

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31545] Question Description : geography_geography_set-1_english_q62
2[Option ID=31546]
3[Option ID=31547]
4[Option ID=31548]

Sl. No.63
QBID:180063

Which of the following data are sources of proxy data for climate change studies?

A historical documents
B. sea floor sediuments
C. satellite data

D. fossil pollen

Choose the correct answer from the options given below :

A and C Only
B and C Only
.A,BandD Only
C and D Only

2w e

(1) 1
(2) 2
(3) 3
(4) 4

WAy YRaa Heel el & o Fafaiad § 9 &F 4 wiel sids! & |id g 2

A, Ufdgis Gy
B. Y% dcilg 3fadlq
c. 39Ugl 2l

D. SIar=H AT

1 16U U fgaedl | U gl 3R &1 99 HIfuIe;

1. had A3R C
2. FIAB 3R C
3. $dd A, B3RD
4.9ad C AR D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31549] Question Description : geography_geography_set-1_english_q63
2[Option ID=31550]
3[Option ID=31551]
4[Option ID=31552]




Sl. No.64
QBID:180064

Which of the following statements are correct with regard to the effects to global warming?

A. Due to global warming it is believed that heat waves may increase in future.

B. Tropical cyclones will be more intense.

C. It is likely that area affected by droughts will decrease.

D. The models indicate that some regions will experience significantly more precipitation and runoff.

Choose the correct answer from the options given below :

. Aand C Only
.Band C Only

. A, Band D Only
. A, Cand D Only
1 1

(2) 2

3) 3

4) 4

YHSH a9 & THTEl & T § T H Y D Y ST T51 8 2

A. YHSH AU & HRU AT A1 ¢ b Hias § 30T de:i # gie gl Ihdi ¢ |
B. Skl Fehard it Yad gitl |

C. g Y YIS &3 & g &I JUIEI g |

D. AISd S ®Rd ¢ [ Do &l § 3fities ayuy 3R S7d Udlg (A 3{1%) B |

I feu 70 faded! | § Ha SUgad 3R &I 99 HifoIu:

1. had AR C
2. FIAB 3R C
3. A A B3R D
4. $Ad A, C IR D

11
(2) 2
3) 3
(4) 4

B e R

1[Option ID=31553] Question Description : geography_geography_set-1_english_q64
2[Option ID=31554]
3[Option ID=31555]
4[Option ID=31556]

Sl. No.65
QBID:180065

Which of the following statement/s is / are correct?

A. The intensity and frequency of tropical cyclones is increasing but economic damage is decreasing.
B. More tropical cyclones occur in Bay of Bengal than Arabian sea.

C. The cyclonic systems developed in Pacific Ocean have impact on South-East Asia.

D. Intensification of cyclone within 5 to 22 hrs. makes prediction of its track difficult.

Choose the correct answer from the options given below :

. A and B Only

. C Only

. A, Band C Only
.B. C and D Only
(1) 1

(2) 2

3) 3

4) 4

B O R




PRI A Y SE I/ T Sy ol o8 2

A. SUIGICE Iehdrdl &1 Udeld 3R Wil § gf 51 381 ¢ IR i & ue @i g |
B. 3Rd YR &I 3{U& S I Wit § 3ifddh Wb ahdard 31d g |

C. U= AR 1 fad Ry gebdidl 27 o1 Gfaoh-gdi Uik iR uHH gsdi g |
D. 59 22 "el & YidR Iehard & Udd g1 SH & HRUI 38d AN BT Gai-H1H Il S 8l Sl ¢ |

1 feu e fadhet! | T Gad IUged 3R &l 98- BHiforu ;

1. hdd A 3R B
2. Had C

3. FIA A, B3R C
4.%dd B, C 3R D

1) 1
) 2
3) 3
(4) 4

1[Option ID=31557] Question Description : geography_geography_set-1_english_q65

2[Option ID=31558]
3[Option ID=31559]
4[Option ID=31560]

Sl. No.66
QBID:180066

Match List I with List IT

LISTI
(Tvpe of Volcanic eruption)

LISTII

(Characteristics)

A |Pelean type

L.

More fluid basaltic lava
effusive and quite in nature.

Less fluid basaltic lava and

B [Hawaiiniype I having explosive nature.
Viscous lava, which do not

C. |[Strombolian tvpe II1.  |remain liquid after contact
with air.

B [Nl v Extremely viscous lava with

violent character.

Choose the correct answer from the options given below:

. A-IV, B-1, C-1I, D-III
. A-IV, B-11, C-1, D-III
. A-TV, B-11, C-II1, D-1
. A-IL D-1, C-IV, D-III
11
) 2
(3) 3
(4) 4

[




el 11 Gl 11 U e sifee

g 1 (SATTHE! [9vbIe &, -
TR = 1 (fErduan)
Sl gidd sdliced
A. [ofer= UeR 1. [T SR a1 9
Tahid |
& idd sglfesd aral
B. [gaTs0H UHR I (3R o faemied udpid
BIEIAIE |
90T |1al @il 5dl & YU
C. [ErElfH ToR 11 [ 3 & g1g garel §
8T I8 | -
. |orcafee = aman
D. [gedhIHTH UER v o
fgfeRad [d@edl § U ol SR &1 991 $ifeld -

.A-IV, B-1, C-11, D-IIT
. A1V, BII, C-1, D-III
.A-IV, B-11, C-II1, D-1
CA-IL D-1, C-TV, D-IIT
1) 1
() 2
(3) 3
4) 4

S R

1[Option ID=31561] Question Description : geography_geography_set-1_english_q66
2[Option ID=31562]
3[Option ID=31563]
4[Option ID=31564]

Sl. No.67
QBID:180067

Match List I with List IT

LISTI LISTII
(Term) (Coined / First used by)
A |[Ethology I |Ernst Haeckel
B. |Ecology II.  |St. George Jackson Mivart
C. |[Hexicology 1. |T. Grinel
D. |Ecological niche IV. [lsodore Geoffrov St. Hilaire

Choose the correct answer from the options given below:

1. A-I, B-IV, C-II, D-IIT
2. A1V, B-1, C-II, D-III
3. A-IV, B-11, C-1, D-III
4. A-I, B-II1, C-IV, D-1I
1 1
2 2
(3) 3
4) 4
Tl 11 Gl 11 ¥ T Siforg
et 1 R T man/
T 1 (T TR 9 T )
A [N (ERIR) | 1 [o=< g
B [uRf&fas! fagH I [gc s Wiy Hare
C. [elFgmiarsi L. [of i
p. [MRTRufa@! i v |[STEHISR fomnsl He
" |(Niche) R
fafafad fasedl 4 U U8l 3R &1 99+ SIS -

. A-I, B-IV. C-II. D-III
. A-IV, B-1. C-II, D-III
. A-TIV, B-II, C-I, D-1II
-A-L B-III, C-IV, D-II

R N




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31565] Question Description : geography_geography_set-1_english_q67
2[Option ID=31566]

3[Option ID=31567]
4[Option ID=31568]

Sl. No.68
QBID:180068

Match List I with List IT

LISTI
(Approach to Environmental IEIST.H
Ethics) (Meaning)

(Views that social hierarchies are
A |Anthropocentrism I |directly connected to behaviours that
lead to environmental destruction.

(Views that environment deserves direct
imoral consideration and not
consideration that 1s mainly derived
from human or animal interests.

(Views that all environmental

C. [Ecocentrism III. fresponsibility is derived from human
interests alone.

(Views that all forms of life have an
inherent right to exist.

B. |Biocentrism IL.

D |Social Ecology V.

Choose the correct answer from the options given below:

1. A-TIL, B-1, C-IV, D-II
2. A-IIL B-IV, C-I1, D-I
3. A-IIL B-IV, C-1, D-II
4. A-IL. B-1, C-1IV, D-III

11

(2) 2

(3) 3

4) 4

Gl 11 Gl 11 Y e Sy

Egg o e e i
A ffw § 3 SagRi § g1y

TRRIGHRDS Bk
c g 1 [Joealdd dad

D. [gmifee giRufds] W _f

fgfciRad [ddedl ¥ U Yol IR &l 994 Bifou -

A-III B-1, C-IV, D-II
A B-1IV, C-1I, D-I
A-IIT, B-IV, C-1. D-II
A-

L.
2.
3.
4. A-Il, B-1, C-IV, D-1II




1) 1
(2) 2
(3) 3
(4) 4

2[Option ID=31570]
3[Option ID=31571]
4[Option ID=31572]

1[Option ID=31569] Question Description : geography_geography_set-1_english_q68

Sl. No.69
QBID:180069

Match List I with List IT

LISTI LISTII
(Type of Region) (Example)
A [|Planning Region I |Metropolitan Fegion
B. [Formal Region II. |NCR
C.  [Nodal Region 1. |Middle-East
D.  [Vernacular Region IV.  |Climatic Region

Choose the correct answer from the options given below :

1. A-I, B-II, C-IIL, D-IV
2. A-IV, B-II, C-1, D-III
3. A-IL B-1V, C-1, D-III
4. A-II. B-TII, C-IV, D-1

) 1
) 2
3) 3
(@) a
Tt 11 Gl 11 Y T By
T 1 (Ie¥ & UPR) T 11 (32RO
A [FareE mem L [FEFTRIE Uew
B. [3NOaria Uex I [g3 53R
C. [rsauem . [meagd
. %;fgduﬁm@ﬂw o

FfaRad [deedl H U U8l 3R &1 99 DI -

1. A-I B-II, C-III, D-IV
2. A-IV, B-11, C-1, D-III
3 AL B-1V, C-1, D-III
4, A-II, B-IIL, C-IV, D-1

1) 1

) 2

(3) 3

(4) 4

2[Option ID=31574]
3[Option ID=31575]
4[Option ID=31576]

1[Option ID=31573] Question Description : geography_geography_set-1_english_q69

Sl. No.70
QBID:180070




Match List I with List IT

LISTI LISTII
(Regional Bloc) (Headquarter)
A |ASEAN I.  |Kathmandu
B. |[EU II.  |Takarta
C. |OPEC I, [Vienna
D. |[SAARC IV, |Brussels

Choose the correct answer from the options given below :

1. A-IV, B-III, C-I, D-II
2. A-IV, B-1I, C-1IL D-I
3. A-II, B-III, C-IV, D-1
4. D-II, B-1V, C-1IL D-I

1)1
() 2
3) 3
(@) 4
Gl 11 Gl 11 9 e Sy
[ 1 (e W (@) 11 (FITe)
A Rz | L [EeEg
B. |4 1L [oicbldl
C. [3iue candiz . [fan
D. [U% (QEUUHRA) | IV [gucd

i f&U 7Y f[qdhet! H T Ug! SR &1 98 Bifol -

1. A-IV, B-1II. C-1, D-II
2. A-IV, B-11, C-1I1, D-1
3. A-IL B-1IIL, C-IV, D-1
4, D-I1, B-1V, C-II1, D-I
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31577] Question Description : geography_geography_set-1_english_q70
2[Option ID=31578]

3[Option ID=31579]
4[Option ID=31580]

Sl. No.71
QBID:180071

Match List I with List IT

LISTI LISTII
(Concept) (Characteristics)
[Frequent repetition of act to the extent that
A |Taboo I it becomes characteristic of the group of

ipeople performing the act.

[Fepetitive act performed by particular
individual.

A restriction on behaviour imposed by
‘lsocial tradition.

The bodv of social norms, beliefs and
D. |Custom IV lmaterial traits that together constitute a
|group of people of distinct tradition.

B. |Culture 1L

C. |[Habit 111

Choose the correct answer from the options given below:

L. A-II, B-TV, C-IIL, D-I
2. A-III, B-1V, C-I1, D-1
3. AL, B-1, C-IIL D-IV
4. A-IIL B-1, C-II. D-IV

1) 1

(2) 2

(3) 3

(4) 4




el 11 Gl 11 U e sifee
T 1 (FHE) = 11 (FaRiaTe)

mﬂ“ima{ﬁ%aﬁm
H:Nqi%l dg 349
A @S L oo @ ara et
BT &0 § oITT |
B. |Gl IL. %Waﬁﬁﬁ?ﬂw
C. lemed m [ Iélamfwﬁ;ﬂqm |
gIfed q9GUs,
ey qun ifdmar
D. [guT IV, [CI&0Tf &1 U WHg ol
T B U@ ARy
TR SIa1 & |

fAgfciRad [ddedl H ¥ Yol 3R &l 99 Bifeu -

1. A-II, B-IV, C-III, D-I
2. A-III, B-1IV, C-I1, D-I
3. A-IL B-I, C-IIL D-IV
4. A-IIT, B-1, C-II, D-IV

11

) 2

(3) 3

(4) 4

1[Option ID=31581] Question Description : geography_geography_set-1_english_q71
2[Option ID=31582]
3[Option ID=31583]
4[Option ID=31584]

Sl. No.72
QBID:180072

Match List I with List IT

LISTI LIST II
(Thinker) (Contribution / Thought)

O o L Planning with the people rather than planning for
them.

B. [Wright II. |Criticised geographyv as the science of distributions

C. |Bunge ITT. |Geosophy.

0. [Hitiads v Drew attention on rhe fomula!1on of laws
lgoverning spatial distribution of phenomena.

Choose the correct answer from the options given below:

. A-L B-III, C-II, D-IV
. A-IV, B-I11, C-1, D-II
. A-II, B-III, C-IV, D-1
. A-IIL B-1, C-II, D-IV
(1) 1
(2) 2
(3) 3
(4) 4

B O R




el 11 Gl 11 U e sifee

T 1 ([AR®) T N@REH/AER)

ST o [0 TierT @i

A @R L [ SgediT & 91y
T |
IR0l & fag & &4

B. RBE I [ Tid &1 SHicieH1 &)
|

c. [&m I [GTEImT |
ﬁaw%}ﬁﬁiﬁﬂﬁfé?

D. &R V. ofrres 1 ik
SOTTHY |

i ST U f[qdhet! H T Ug! STk &1 98- BIfold -

B R

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=31585]
2[Option ID=31586]

3[Option ID=31587]
4[Option ID=31588]

.A-I, B-TII, C-I1,
- A-IV, B-II, C-1, D-II
. A-IL, B-TIL, C-TV, D-1
. A-IIT B-1, C-11,

D-1V

D-1V

Question Description : geography_geography_set-1_english_q72

Sl. No.73
QBID:180073

Match List I with List IT

LISTI
(Techniques / LT
b (Application)
Analysis)

A T Sorios Aralysie I qut canfnonly recommended test for
uniformity model.

B. [Chi Square Test e Ma.liing predictions with reasonable
confidence.

¢ (CTiier Auiakysis L Comparing distributions on 2-dimensional
surfaces.

o Feores Crve v I‘r.r_r_la}'_ be erther agglomerative or
divisive.

Choose the correct answer from the options given below:

R

1) 1
(2) 2
(3) 3
(4) 4

AL B-L C-IV,
AL B-II, C-I1,
. A-IIL B-1I, C-IV, D-I
. A-IV, B-III, C-1, D-TI

D-III
D-1IV




el 1 T1 gl 11 9 e S
T 1 (@ / Fawergu W 11 (3T

[T T
A [PTeT g fa=eyor L [Hisd & e gaifes
=Y T T GET|
T da i

B. [PTs WHIER U&T I [Eeg-iga & uy

C. [Hgd a=aivo IIL aﬁa awﬁlﬁﬁm R
. [EEwmatgEga T
D. [l 3 v GUe® 5l 9hdl & |

1 feu e fasmeul ¥ 9§ Ul 3wk &1 98- Diforu

. A-IL, B-1, C-IV, D-III
. A-L, B-II, C-IL, D-IV
. A-IIL B-II, C-IV, D-I
. A-IV, B-TII, C-1, D-TI
1) 1
(2) 2
(3) 3
4) 4

B N

1[Option ID=31589] Question Description : geography_geography_set-1_english_q73
2[Option ID=31590]
3[Option ID=31591]
4[Option ID=31592]

Sl. No.74
QBID:180074

Match List I with List IT

LISTI LISTII
(GIS Analysis Function) (GIS Operations)
e Combining de_talled map categories to create I [Rufferins
new, less detailed categories. ¥
Creates a zone of specified width around one or Network
B. I -
more features. Analvsis
C Per_ml’rs detel_"mnung the stream flows ina B1, Rosesusisitg
drainage basimn.
Permits viewshed mapping of what terrain : :
B features can be "seen” from a specified location. IV, . |Agexcaation

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. A-L, B-III, C-IV, D-II
3. A-IIL, B-1, C-IL, D-IV
4. A-IL, B-III, C-I, D-IV

1) 1

(2) 2

(3) 3

(4) 4




el 1 T1 gl 11 9 e S

mﬁx@ﬁaﬁ@wﬁwﬁw Tt 11 (ot o

A @mm I [@B (Buffering)
&1 HaTe del|
B. BedypuRaam | L [0 aRe
Ealukzsil
30A1g SHeH H HRT
C. [varel & FuRorat I |3feR e=gdr
SRkl
CEEEIEE]
& @
D. [¢&H &g e V. [Oq=gH O
%ﬂﬁwﬁaﬂnﬁ
|

1 fGU U fqdhed! H T Ug! TR &I 98- HIfol :

. A-IV, B-1, C-II, D-III
. A-L B-III, C-IV, D-TI
AL B-1, C-I1, D-IV
CA-IL B-IIL, C-1, D-IV
1) 1
(2) 2
(3) 3
(4) 4

B O A

1[Option ID=31593] Question Description : geography_geography_set-1_english_q74
2[Option ID=31594]
3[Option ID=31595]
4[Option ID=31596]

Sl. No.75
QBID:180075

Match List I with List IT

LISTI LISTII
(Coal Mining Region) (State)
A |Singarent I.  Maharashtra
B. |Ib river Valley II. harkhand
C. |Karanpura III. |Telangana
D. |[Kamptee IV, |Odisha

Choose the correct answer from the options given below:

. A-III, B-IV, C-II, D-1

. A-IL B-III, C-I, D-IV
. A-L B-1I, C-III, D-TV”
. A-IV, B-III, C-II, D-1

1) 1

(2) 2

(3) 3

(4) 4

B B




el 1 T1Y i 11 BT e Pifore

@I(aﬁuwwﬁﬁb T 11 RT59)
[RBEL 1 [9ERIP

B. [g8a gl 1. [FIREsS

C. [@pTT1 ML [T

D. [drdl V. [affsam

el feu v fased! o 4 9T IR &1 98- DIfST :

A-IIL B-1IV, C-I1, D-I
A-IlL B-III, C-1, D-IV
A-lL B-II, C-III, D-IV
A-IV, B-III, C-I1, D-I

e o S

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=31597] Question Description : geography_geography_set-1_english_q75
2[Option ID=31598]

3[Option ID=31599]
4[Option ID=31600]

Sl. No.76
QBID:180076

Arrange the following according to their related year in chronological order (first to last) .

A. Kyoto Protocol

B. Brudtland Commission
C. Paris Agreement

D. Agenda 21

Choose the correct answer from the options given below :

1.A,B, D, C
2.B,.D.A.C
3.B,A,D,C
4, A.D,C.B
(1) 1
) 2
(3) 3
(4) 4

FEfRad &1 39 Haiad au & SR SIAHSHH (YU ¥ 3id dd) § Hafed B |

A. FIE Uleidid
B. §gcds AN
C. URY guiidr
D. TSl 21

i f&U TTU fqdhet! H T Ug! SR &1 98- Bl -

I1.A.B.D.C
2.B.D. A C
3.B.A.D.C
4. A, D, CB

1) 1

) 2

3) 3

(4) 4

1[Option ID=31601] Question Description : geography_geography_set-1_english_q76
2[Option ID=31602]
3[Option ID=31603]
4[Option ID=31604]

Sl. No.77
QBID:180077




Identify the correct sequence (descending order) of leading countries in wind power installed capacity in 2021.

A.USA
B. Germany
C. China
D. India

Choose the correct answer from the options given below :

1.€. DA, B
2.A C.B.ID
3.C,A_B,D
4.A,C,D,B

(1) 1

2) 2

(3) 3

(4) 4

Y 2021 H GRTUT g Afad H 30N G201 & el A (3dRg! HH) D1 UgdH HIfo |

A. U ST ARG
B. Sl
C. i
D. YRd

e fGu TTU faded! | U gl IR &1 989 BHifofu :

.C,D,A. B
A C,B.D

1[Option ID=31605] Question Description : geography_geography_set-1_english_q77
2[Option ID=31606]
3[Option ID=31607]
4[Option ID=31608]

Sl. No.78
QBID:180078

Which of the following is correct descending sequence of world's largest merchandise importers in 2021 as per WTO report?

A. Japan
B. Germany
C. China
D. USA

Choose the correct answer from the options given below :

1. C.A. BB
2.D,C,A,B
3.C,D.B.A
4. D,C6.8B A
1) 1
(2) 2
(3) 3

(4) 4
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Arrange the following languages (in descending order) in the world according to the percent of people speaking them.

A. Sino-Tibetan
B. Afro-Asiatic
C. Indo-European
D. Dravidian

E. Japanese

Choose the correct answer from the options given below :

L.AC,D.B,.E
2.6 A D B H
3.ACHBDE
4.C,A,B,D,E

1)1

(2) 2

(3) 3

4) 4

fay @1 fAafaRad ymral B 39 did died o7l & Uidd & S{UR HalRd (3faRig 6hH) HifT |
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LA B E
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3.3)A,C,B,D,.E
4.C,A.B,D.E

(1) 1

(2) 2

(3) 3

(4) 4
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Arrange the following population health policies in India in chronological order (from old to recent).

A. National Health Policy

. National Policy for Rare Diseases

. National Youth Policy

. National Policy for Persons with Disabilities
. National Mental Health Policy

usllw o Nvs

Choose the correct answer from the options given below :

LD EARB
2.E.D,C,A.B
3.D,C,E. A, B
4. E.D.A,C.B

1) 1

(2) 2

(3) 3

(4) 4
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4[Option ID=31620]

Sl. No.81
QBID:180081

Arrange the following concepts of Political Geography in chronology from oldest to latest.

A. Functional Approaches in Political Geography by Hartshorne.
B. Rimland Theory by Spykman.

C. Frontier and Boundary concept by Moodies.

D. Heartland Thesis by Mackinder

Choose the correct answer from the options given below :
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Arrange the following approaches in chronological order.

A. Feminism

B. Quantitative Revolution
C. Behaviouralism

D. Determinism

Choose the correct answer from the options given below :

1. AC,BD
2.B,.C,A,D
3.D,B,C,A
4.C.A DB

1) 1

) 2

(3) 3

(4) 4
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A. ARG

B. HHATHS hifd
C. dgRdlG
D. Fygdre

T feu U fased! § 9§ Uel 3tk &1 99+ Difor

1[Option ID=31625] Question Description : geography_geography_set-1_english_q82
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Arrange the elements of electromagnetic remote sensing of earth resources in sequential order.

A. Propagation of energy through the atmosphere

B. Energy Source

C. Re-transmission of energy through the atmosphere

D. Energy interactions with earth surface features

E. Detection, recording and transmission of data to ground stations by sensors.

Choose the correct answer from the options given below :

1.A,B.C.D,E
2.B.4 D2 E
3.3.CCDABE
4.E,D.C.B.A

(1) 1

(2) 2

3) 3

4) 4
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LABCDE
2.BADCE
3.3.C,D,A,B.E
4.E,.D,C,B,A

1) 1

) 2

(3) 3

(4) 4
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3[Option ID=31631]
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Arrange the following developmental plans of India in order of their inception.

A. Desert Development Programme

B. National Capital Region

C. Damodar Valley Corporation

D. Integrated Rural Development Programme
E. Drought Prone Area Programme

Choose the correct answer from the options given below :

1.C,E,D,A,B
2.E,D,C.B,A
3.0A B, C.F
4. C,D,AE.B

11

(2) 2

(3) 3

(4) 4
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Arrange the following states in descending order on the basis of percentage of forested area out of the total geographical
area.

A. Uttarakhand
B. West Bengal
C. Odisha
D. Kerala

Choose the correct answer from the options given below:

1. A,
2.D, 4
3.6 7

: D

tl:l':ltﬂU
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g

B
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1) 1
(2) 2
(3) 3
(4) 4

FafcRad gl @1 po Uihiferd &5 H 94 &3 & Uld=Id YT & SHTUR HaRIg! shH Hafyd Hifol |
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I 16U T 9 el H U Ul 3R &l 994 Diford:

1. A.C.B.D
2.D,A,C.B
3.C,A.B.D
4.D,C,A B

(1) 1

) 2

3) 3

(4) 4

1[Option ID=31637] Question Description : geography_geography_set-1_english_q85
2[Option ID=31638]
3[Option ID=31639]
4[Option ID=31640]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Increasing complexity and diversity of economic activity encourages unevenness of population distribution.
Reason B : Increasing government control over economic activity emerged as a significant factor affecting population
patterns.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A is correct but R is not correct.
4. A is not correct but R is correct.
(1) 1
(2) 2
(3) 3
(4) 4

A1 &l Y ST U §: Udh HUDHYUT (Assertion A) & U H R ¢ ol SR IUD HRUI (Reason R) b &G H,
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : The dark shadows of trees on pavement may be misclassified as water in the process of automated image
classification.

Reason B : In visible-wavelength imagery, objects inside shadows will tend to appear darker and bluer than if they were
fully illuminated.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A

. A is true but R is false

. A is false but R is true

1) 1

(2) 2

3) 3

(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31645] Question Description : geography_geography_set-1_english_q87
2[Option ID=31646]

3[Option ID=31647]
4[Option ID=31648]
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Given below are two statements :

Statement [ : Sugarcane cultivation in deccan plateau region is more remunerative than northern regions of India.
Statement II : There are a few number of sugar mills located in sugarcane cultivating northern regions of India.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
(1) 1

(2) 2

(3) 3

(4) 4

4 el By lgu U B:

HUF 1 : Tab- USRI Ue B T3 31 Gl YR & 30 UGN I (0e s e ¢ |
HYT 11 : HRd & Tl SadTed Il Uaxll | fyd it foedl &1 G s ¢ |

JRIc] B & Hdid 4, Hid fGu U [ddhei o 4 9949 IugR IR &1 999 DIl

1. Y I3MR G 9a g |
2. FYF 1 AR TGl A g |
3. HUA19A g, AP HY I 3T ¢ |
4. HUYT 13T G, AT YT I IA T |
(1) 1
2) 2
3) 3
4) 4

N
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Given below are two statements :

Statement I : The movement of minerals in an ecosystem is unidirectional.

Statement II : The movement of energy in an ecosystem is cyclic.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
(1) 1
) 2
(3) 3
(4) 4

N
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(1) 1
() 2
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2[Option ID=31654]
3[Option ID=31655]
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Given below are two statements :

Statement I : State may be defined as geographically organised area by the population and having a government in partial
control of its entire area.

Statement I : A state is a human community that claims the monopoly of the legitimate use of physical force with a given
territory.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4

A el Hy G g:

DY 1 : A DI 2Y YHR UIRYI (a1 ST bl ¢ - Ao HFTITeIdh =0 Y S ae Saiford &3 ¢ forgd dquf & &
SR (T g U TRBR Bl ¢ |

@Y 11 : IoY dg HIFd G ¢ ol il & 19319 & il Hifad 9al & 4 W & UbNUBR $I ald] &l g |
JURIdd HY & ATedld H, Hid 6T TN fadedl & U 981 IR &1 994 I

| HYFISNRIGH 9d g |
2. HYFIAR I GHI 3A g |
3. HUA 1A g, AP HYF 1 3T g |
4. BYT 13T L, AP S I II ¢ |
(1) 1
(2) 2
(3) 3
(4) 4
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples etc. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA. but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

SHTEHI SdTel H SR, 2, YR, el 3R I 3f1fe; 31 Frafd dwifdd e 8 | AeRTY I A1l <= & o iR &1
1d U SIge-d [a=Ivd Ui § | USRI aREHT Sdme! & TRk 38 G0-] HYd Yb- & G0 Id1G di
HYDH A | 2 IcTe] b TR0 Haell Ui 2R fauuM / SUHia gl ddb I e Uil Hi aRadhdI g |
G ANTAF g DY AISHT H TRAR J 95k D1 bl S(U& g | STeiid 3R HRSI & 616 HRd (9% | T 931 Bbd
JATGD G2 &, T T8 304 Hdl SdTa & AT 0.5 WA= YR ST THEHIU Sl § STaich sifora 70 Ufa=Td YT &l
TR0 DXl § 3R 3 BRU T, 3000 RIS & Wl AR Ffeorgi ddig gl Sl 3 | 3id: 375 Dddh! U Uldhidd UidRel
eferd SHaiRe HEiES & Ui gRI 2 A ol Gbhdl § | =9 SfiH $i errex, oid, gara! SR 3= uidf o
alﬂﬁ?rmadéddqﬂErIT,rFﬂeﬂuﬂﬂﬁﬂ?ug"wwgﬁr@aﬁaﬁ%ﬁ@wmw@ﬁa@a@m%mﬁ
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G (1992) HT&TE] B U dr SRl DI Gfd g el St H 50 U 3R Hooil 1 100 TR B gfg H Bl
g31a 1Ga1 g | 39 el 3 e gaear Rifed Yf H 2000 AISH AFETHT SAIGA Ud UHERRU] dal Bl RITUA] &

BRI 25% TR Faid S s & 187 1 QR HIAT SN | ST A [ierad el &1 Sdie T . 18,000 0T Hid
TACTR &1 I IV 3R FITHR S+l g1 TRe ISR Yford gl 3R Sl ©: fHfer uRaR il W1 9 «1ex #{1a |

Which one of the following statements is correct about horticultural products?

. Most of the agricultural products face the problems of glut at the time of crop growing.
. Most of the horticultural products face the problem of bunt at the time of sowing.

. Most of the vegetable products face the problem of smut at the time of harvest.

. Most of the horticultural products face the problem of glut at the time of harvest.

1) 1

(2) 2

3) 3

(4) 4

fFgfafad § ¥ ®H-91 Y SFEH 3dEl & R H 9l g 2

1. MBI B IATE B ST Y S IATE B GHAT BT U H ¢ |
2. YD DY IATE 914 & T HWHT (d-C) B U ST A HAG |
3. AYBIY Yooll IMIG Hels & GHY Usd &I GH BT YIH Hd 6 |
4. B IATEFT IATG BUE Hels & JHY YD 3G &I JHI] BT JHA 6Hd g |
(1) 1
) 2
(3) 3
(4) 4
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples etc. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA. but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

SHTEHI SdTel H SR, 2, YR, el 3R I 3f1fe; 31 Frafd dwifdd e 8 | AeRTY I A1l <= & o iR &1
1d U SIge-d [a=Ivd Ui § | USRI aREHT Sdme! & TRk 38 G0-] HYd Yb- & G0 Id1G di
HYDH A | 2 IcTe] b TR0 Haell Ui 2R fauuM / SUHia gl ddb I e Uil Hi aRadhdI g |
G ANTAF g DY AISHT H TRAR J 95k D1 bl S(U& g | STeiid 3R HRSI & 616 HRd (9% | T 931 Bbd
JATGD G2 &, T T8 304 Hdl SdTa & AT 0.5 WA= YR ST THEHIU Sl § STaich sifora 70 Ufa=Td YT &l
TR0 DXl § 3R 3 BRU T, 3000 RIS & Wl AR Ffeorgi ddig gl Sl 3 | 3id: 375 Dddh! U Uldhidd UidRel
eferd SHaiRe HEiES & Ui gRI 2 A ol Gbhdl § | =9 SfiH $i errex, oid, gara! SR 3= uidf o
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G (1992) HT&TE] B U dr SRl DI Gfd g el St H 50 U 3R Hooil 1 100 TR B gfg H Bl
gq a1 ¢ | 39 Sreal 3 fferH gaear Rifad Y # 2000 ST SNTEHT MG T TR hal &l R &

BRI 25% TR Faid S s & 187 1 QR HIAT SN | ST A [ierad el &1 Sdie T . 18,000 0T Hid
TACTR &1 I IV 3R FITHR S+l g1 TRe ISR Yford gl 3R Sl ©: fHfer uRaR il W1 9 «1ex #{1a |

Chitinase gene is injected into tomatoes and potatoes in order to ensure

. Freshness

. Save money on preservation
. Price Control

. Weight loss check

Sy

. Aand B Only
. B and C Only
.Aand D Only
.Band D Only
1) 1
(2) 2
3) 3
(4) 4

ffe= SfiF fhue! GHd B & o1t eareR SR o & oidqd fRId faar 9 &:
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2[Option ID=31666]
3[Option ID=31667]
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples etc. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA, but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

AT SaTel B SR, 3, WeR, el AR e 317 aifivep Frafd Wuifaa Seare € | HeRTy @ @il 30 o forg SR b
g1 U IATgSD fa=Ivdl udi ¢ | i e arar Sl & S 981 Y99 Byd Udb- & 959 JdiG i
B g | 3 JcdTal oI TR0 Geeft Uit iR fauuE / Iuniedl dgl db 3! s Uaiil dl aRghdl g |
GRS q|4|d|rﬁ%§qz|’5e AT 3 WRHR Y S5aR B DI UM 8 | SISl AR HRST & d16 HR fay H e 931 el
JdIGDH G2 S, T U8 U $dd IAIGH o HTH 0.5 YT YT T FEHEDHIU Bl g Sidich sTfoiel 70 UTdRId U ol
TRV Bl g 3R 3H DRUI S, 3000 DRIS b Bl 3R Jiewi gale gl Akl g | 3id: 374 chqqm@mqﬂdm SIREA|
Yalferd GRS IS & T gRT2Y AT S Yabdl § | Y SiF DI eI, 3T, Geilal 3R 3= e o
SIREIRIG dvadéddqv“[am?ﬂmwﬂaa?ug"dﬁaaﬁgﬁr@ﬁﬁaﬁﬁ%aﬁ?mﬂmw@ﬁﬁa@m%mﬁ
EEREARCIGI

T (1992) 31T Dl GPdHdl WReddl &1 Yid 5d Bl Scdia- H 50 Uidrd 3R Tesil H 100 U= B g B BI
g31a fear g | 28 afelrdn 3 fifeaH gaear [ifed YT o 2000 A dFTATT TG Ud UEEHU] gl Bl R0 &

BRI 25% AR Fafd @1 9l & a8 b1 IR HAT I | 2849 i e ! &1 3die- I . 18,000 TUT Yfd
BACTR B A I 3R FIAHR S+l §1 e ISR Yherd gl 2R Sl @: fHifera uRaR TRidl a1 9 a1g 210 |

Which of the following measures is not the necessary step required to preserve the horticultural products?

Access to marketing zone.
Preservation system

Fast mode of transportation
Big market size

A Gl i

1) 1
(2) 2
(3) 3
4) 4

FAfeIRad O SIF-91 IR Sdre] & &0 3q Sawd el g1 8 2

1. U &7 9% ugd
2. TR&0T YTt
3. UdgH &l dig Hregd
4. dINIR P d3T HBR
1) 1
(2) 2
(3) 3
(4) 4
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples etc. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA. but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

SHTEHI SdTel H SR, 2, YR, el 3R I 3f1fe; 31 Frafd dwifdd e 8 | AeRTY I A1l <= & o iR &1
1d U SIge-d [a=Ivd Ui § | USRI aREHT Sdme! & TRk 38 G0-] HYd Yb- & G0 Id1G di
HYDH A | 2 IcTe] b TR0 Haell Ui 2R fauuM / SUHia gl ddb I e Uil Hi aRadhdI g |
G ANTAF g DY AISHT H TRAR J 95k D1 bl S(U& g | STeiid 3R HRSI & 616 HRd (9% | T 931 Bbd
JATGD G2 &, T T8 304 Hdl SdTa & AT 0.5 WA= YR ST THEHIU Sl § STaich sifora 70 Ufa=Td YT &l
TR0 DXl § 3R 3 BRU T, 3000 RIS & Wl AR Ffeorgi ddig gl Sl 3 | 3id: 375 Dddh! U Uldhidd UidRel
eferd SHaiRe HEiES & Ui gRI 2 A ol Gbhdl § | =9 SfiH $i errex, oid, gara! SR 3= uidf o
alﬂﬁ?rmadéddqﬂErIT,rFﬂeﬂuﬂﬂﬁﬂ?ug"wwgﬁr@aﬁaﬁ%ﬁ@wmw@ﬁa@a@m%mﬁ
EEGEARTI R

G (1992) HT&TE] B U dr SRl DI Gfd g el St H 50 U 3R Hooil 1 100 TR B gfg H Bl
g31a 1Ga1 g | 39 el 3 e gaear Rifed Yf H 2000 AISH AFETHT SAIGA Ud UHERRU] dal Bl RITUA] &

BRI 25% TR Faid S s & 187 1 QR HIAT SN | ST A [ierad el &1 Sdie T . 18,000 0T Hid
TACTR &1 I IV 3R FITHR S+l g1 TRe ISR Yford gl 3R Sl ©: fHfer uRaR il W1 9 «1ex #{1a |

India requires genetic engineering of horticultural products preservation to ensure :

. Artificial resistance against fungus
. Natural defence against glut loss

. Artificial defence against rust

. Natural defence against fungus

1) 1

(2) 2

3) 3

(4) 4

HRd H fhgeh] GRTHd H g SNIaH Sdle IRV DI A RIb AHTIEID! B H1aeudhdl g :

B O R

1. Hdbl & (935 HEH UfaRIuDdl
2. YEAN & JHUH & (% TTDhidd TIaREl
3. T AT D1 S AT UfiRen
4. Babl & [dog Ui Ufdam

1) 1

(2) 2

3) 3

(4) 4
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples etc. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA. but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

SHTEHI SdTel H SR, 2, YR, el 3R I 3f1fe; 31 Frafd dwifdd e 8 | AeRTY I A1l <= & o iR &1
1d U SIge-d [a=Ivd Ui § | USRI aREHT Sdme! & TRk 38 G0-] HYd Yb- & G0 Id1G di
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G ANTAF g DY AISHT H TRAR J 95k D1 bl S(U& g | STeiid 3R HRSI & 616 HRd (9% | T 931 Bbd
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TR0 DXl § 3R 3 BRU T, 3000 RIS & Wl AR Ffeorgi ddig gl Sl 3 | 3id: 375 Dddh! U Uldhidd UidRel
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G (1992) HT&TE] B U dr SRl DI Gfd g el St H 50 U 3R Hooil 1 100 TR B gfg H Bl
gq a1 ¢ | 39 Sreal 3 fferH gaear Rifad Y # 2000 ST SNTEHT MG T TR hal &l R &

BRI 25% TR Faid S s & 187 1 QR HIAT SN | ST A [ierad el &1 Sdie T . 18,000 0T Hid
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Th 50% increase in the production of fruits and 100% of vegetables will be beneficial in form :

. To meet the nutritional requirement

. To check out migration

. To increase the employment opportunities
. To bring families above the poverty line

Cnowp

A, Cand D Only
. A, B and D Only
.B. C and D Only
. A, Band C Only
1) 1
(2) 2
(3) 3
(4) 4

Tl TG H 50% @1 gi 3R ool SATEA H 100% 1 df [T &0 & diyd Rl gilk:

A. UIf¥HdT 31aRgdhdl &1 gfd & fog

B. UgoiH UR dh @1 & fefu

C. AR & qIRI H Iieg B & folu

D. TRAR! &I TR @1 T FR a4 & forw

1 feu e fadedl o 9 9el faded &l 994 Hifo:

1.$dd A, C 3R D
2. ®hdd A, B 3R D
3. %dd B, C 3R D
4. $ad A, B3R C

(1) 1

@ 2

3) 3

B R B




(4) 4
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Read the passage carefully and answer the questions :

Every vyear. unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera, Giardia and Typhoid. Even in wealthy nations, accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues. from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.

fAfeiRad TTei= 31 Fyde Ug 3R 38 16 U U uyl & Ik dIfSU |

SRIEA (3aa3) Sfa Ulday i1 U 3Rd Akl &l 101 G411 ¢ | SR Haiied Ughe Ieil & qHioe) €= o
¥g- & BRI UIE: Y 31 dTcl 9e/ TR-Hulfdd ¢ J Sifgn o gid § | Tl 3R ugail & Uiy 9 IeHdb
S0 T4 IRRY & U H S-S G- gt Sid U S0 &1 Tdh UHd RIS | 2fafd Sid d Be aral
At g, foaniSar SiR o SR (23Wi3s) Qe § | R o=l db H Ha-ofd 2NeH gidensi J gee-r a1
39 T Y e arel Tiged Sd & Sdd] Wdl Ud TR &3 I §el-30arg (3H-341h) ST 4 gliHeRS Jdie-
DIANGH B © | SHRDT WR T Uiday geR| Hiad IR AT (Hici lad 3R UISts arex oY oid |idl J
Higpfad AT &1 U TR =) ¥ WU G133 © 3R 3D HH SihIa1 ¥ ddh Agg- & Sl g d dgd o
IS ¢ | U o, Oie 3R AR | 8- d1dd il &1 Ga - Sigh arTd H deldl & SUr Ud fTfefe R US bl
ST A TR & T YD Bl Iodd R a1 g | 39 IR I {+aid SfPUrd S B Al aidl g 1 gHIR oid
o IS 3R 337 S g fdhd- WA ¢ | U8 GaH] fTkie 9 W oi(dl 8 2R I8 W U o{fUd ddhehR]
¢ i IS UGUD! Bl AT 3o - AR D Sl URT ¢Td Ud UR H AhR DIARIB! 3R A12¢ e a3 - gHRI
S SMgfcd TGP $RIUT | 31 U IR STUgU BH TR U Siiq-[avg &HIR I dh -9 S - W Je,
I B ¢ 3R SUY HIRETSH & SR UR fquId U Usdl g | fda=Iy U 9§ 9= 3R ddl Aigand siRaq # ¢ | ggl
dd b a1 Y ST 1R S 1 .01.0. & YR Hd-Sid YRIhId deddi oid 9 35 IRd Uiday SHRe! &l IR 9,
O, HE-1 Geha SR gUCTS (Y oIy Wi Hal § 3Hfad gid g |

The lead contamination crisis in Flint was a consequence of :

. release of lead from agricultural fields

. high amount of human waste

. high amount of animal waste

cost cutting measures and ageing water infrastructure

il o

1) 1
(2) 2
3) 3
(4) 4

feie &1 SR &1 YguUl e [T U iRumy o :

1. Gl § e are 2Rl
2. {9 3URIY D 3= AT
3. U URTY S 3= AT
4. A H Beldl & UM SR NS QR TS bl STcd TR
1) 1
(2) 2
(3) 3
(4) 4
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Read the passage carefully and answer the questions :

Every year, unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera, Giardia and Typhoid. Even in wealthy nations, accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disneyland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues. from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.

fFafeiRad e $I AMYde Ue 3R 3Hd dle faU 7T Uyl & IR ST |

SRRIET (3R w5) e Uiy RTHT Ueb 3R Al &l 0 G411 ¢ | 3R Falied Ughd Il & G40 @R o
¥g- & BRI UIE: FH 31 9Ted 9ed TR-Hulfdd ¢ I Sifgn 4 gid § | T 3R Uil & Uiy  IeHe
ST 4T IRRY & U H Sol-Sli+d GTol-g gt Sid Y ST &1 Teh UHd RO G | [ Sid 4 e aral
STl § g, TS ar 3R o SR (C3Whiss) Wi § | 3R Il dd H Ha-oid 2NeH sl | ghedr a1
349 T Y e are Tigd Sidd & ATl @dTQa"w’iq &1 9 Sdl- SIS (-31) ST § glH®RS JUio-
DIEH BRI ¢ | HRDT R H Uiday goRl ofdd THTFRR I (Diei ey 3R Ui2ts dlex oY ofd Hidi 9§
Hipfard FHIEr &1 U 71HR TU) Y TR0 5138 ¢ 3R 3Yd T SierhI=a1 9 dd g & S0 g8 d dgd ol
TG © | 3U o, Oie 3R R § 8- drel aill &1 G4 Sigi T H ddldl & SU Ud Tiee QR Us o]
SHAERTHT 1 T & SNV He Bl I BR [T S | 38 aR H Pl e/DUTd 3 &1 Sazadel S & i gaR ofel
o IMEAAS 3R 337 S Ughd fdhd- WaRTd ¢ | U8 9ol fTeid 9 W oi1dl § 2R I8 A U #Hfdd ddhedR
© i1 MRS YGWD! DI ATd 361 - RIS ol YR U1 Ud IR H ddR HledRId] 3R Al5ce 3avd - HRI
ol S1gfcd T Uiy HRIUT | 3961 Uh IR HTUg0 g IR I Silq-favg HER Y dh gHH-[a9e Sy o Wy g
I DR ¢ 3R YUY AIRETSH o SR IR fAuld U Usdl g | [y 9 9 9= 3R 1t Afgand siRaq /¢ | ggl
dd T oRAT U1 ST WR1 8 | 3.010. & IR Hdl-Sd URThTd deddi ofd 9 35 dRg Uiday SERS! @l IR ddhd,
O, HE-ig UehHU SR gUCE ey SIY Wi Hef § 3bfad gid g |

Which disease is a severe form of pneumonia contracted from water sources like cooling towers and piped water?

Cholera disease
Minamata disease
Legionnaires disease
Giardia

el e

1) 1
(2) 2
3) 3
(4) 4

i <Tay SR UIStS drex S Siel 9idl § Sfidbfad (bl ads) HElf-1 &1 Uh 4R U -9 8 2

1. SO AT
2. HATATAT AT
3. TR AT
4. S
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=31685] Question Description : geography_geography_set-1_english_q97
2[Option ID=31686]




3[Option ID=31687]

4[Option ID=31688]
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QBID:180098 .
Read the passage carefully and answer the questions :

Every year. unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera. Giardia and Typhoid. Even in wealthy nations. accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues. from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.

FfcRad 29 &I AMYde Ug 3R 2Hd dIg U ¢ U4l & JoR alfolt |

SIRIET (3RF=5) STcl Uiy iU Ueb 3R Al Bl S0 G411 § | 3R Yl Ughd I & T @i I
¥e- & BRI UIE: Y 31 diel Ye™ TR-3[uldd ¢ I Sifga 4 gid § | T 3R Uil & Uiy 9 e
SIGI0] TUT dRRY & =0 H Sd-s1-d GdTe-4 Ygitd Sid U $0Id1 1 U UHd HRUIG | 24éd id 9 e aral
ARl ¥ g, fSafSar oiR o SR (<3WI3s) Qe § | SR o=l db H Ha-ofd 2NeH Yfaensi J gee-r a1
3{dg T Y e arel Tiad Sidd & el @dTQa"vmi‘iq CEIRSEEGE ST (- ) STeanT | gie RS Tde-4
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Higpfad AT &1 U 1R F0) Y G071 8138 © 3R 24 U SihIa1 ¥ ddh Igg- & Sl gy d dgd o
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o I SR 3= e UeuD [dd- aR-1s § | U8 YU {Tkie g TR o7l § 3R U8 2 U 3iféd YhehR!
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ST SMTYfc & WP PR MW E | 37P1 U 9R a0 giH IR 3 SI19- 199 IR U AdR g H-[99e ol 3 WA Tg,
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e fob a1 W SR WR1 8 | $.01.0. & YR Ha-Sfd YRTHId deddi Sid 9 35 ORa Uiday SHRe! &ar IR 9,
O, 4TI Yh AT 3R gUCTS ey oIl Wi Hal J 3Hiad gid g |

Why low-income communities are at high risk from water pollution?

Because their immunity levels are low.

Because their homes are often closest to the most polluting industries.
Because they do not have access to medical facilities.

. Because their homes are farthest from city center.

1) 1

(2) 2

3) 3

(4) 4

99 319 9Ic] GHEH ST UgHUl ¥ S Siiiaq H &/l g 2

1. i ITeb1 UfR&T & &R FF gIdT g |
2. it Idh TR UI: Haild Ugud I & GHUR A T |
3. i IAD! by Graensf b ggd g1 gial |
4. b 3 TR Y 5 Y GRAH Bl ¢ |
(1) 1
(2) 2
(3) 3
(4) 4
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Read the passage carefully and answer the questions :

Every year. unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera. Giardia and Typhoid. Even in wealthy nations. accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues. from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.
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Which of the following message is given through the passage?

. Water pollution is an issue only in under-developed nations.

. Water pollution occurs only in few countries.

. In developed countries water pollution is not caused by harmful pathogens.
. Water pollution is a problem even in the high income countries.

1) 1

(2) 2

(3) 3

(4) 4

Y ITERI o HIEH Y 1 YoRl [Gar g 2
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1. S WUl e 3fcd-fahid o2l &1 Ueb He1 3
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4. 3% 39 91 o F o STd UGNl U6 AT |
(1) 1
2) 2
(3) 3
4) 4
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Read the passage carefully and answer the questions :

Every year, unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera. Giardia and Typhoid. Even in wealthy nations. accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues, from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.
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Every vear how many Americans contract health issues such as skin rashes, pinkeye, respiratory infection and hepatitis from
sewage-laden coastal waters.
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